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UGC NET PAPER 2 NOVEMBER 20, 2021 SHIFT 2 FOLK LITERATURE QUESTION PAPER

Topic:- 71Folk_A
1) Which concept was a leading cause for a paradigm shift in folkloristics in 1960s and 1970s?
(1) Cultural Discourse (2) Fakelore

(3) Ethnic Genre  (4) Cultural Heritage
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[Question ID = 3240][Question Description = Q01_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12423]
2. 2 [Option ID = 12424]
3. 3 [Option ID = 12425]
4, 4 [Option ID = 12426)

2) Folklore can be expressed by the group at large in “Collective actions of the multitude” is the definition given by

(1) James Frazer (2) Max Muller

(3) E.B, Tylor (4) L.H. Morgan
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[Question ID = 3241][Question Description = Q02_FolkLit_ SHAAN_NOV21]
. 1 [Option ID = 12427]
2 [Option ID = 12428]
3 [Option ID = 12429]
4 [Option ID = 12430]
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3) Who stated that, “all folklores are traditional, but not all traditions are folklore”,
(1) Franz Boas (2) John Lubbock

(3) Ruth Benedict (4) William Bascom
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[Question ID = 3242][Question Description = Q03_FolkLit_ SHAAN_NOV21]
. 1 [Option ID = 12431]
2 [Option ID = 12432]
3 [Option ID = 12433]
. 4 [Optien ID = 12434]
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4) The idea that ‘Folklore applies only to items in culture that remained alive among those segments of society least
exposed to the light of civilization’ is

implied by the theories of :
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(1) Devolution theories ; (2) Evolution theories

(3) Performance theories (4) Structural theories
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[Question ID = 3243][Question Description = Q04_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12435]
2. 2 [Option ID = 12436]
3. 3 [Option ID = 12437]
4. 4 [Option ID = 12438]

5) In a collection of folklore, who advised an editor of a journal to give story in the ‘ipsissima verba’ of the story teller to
protect its autochthonic nature?

(1) Wilhelm Mannhardt (2) Alan Dundes

(3) Don Ben-Amos  (4) Max Muller
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[Question ID = 3244][Question Description = Q05_FolkLit_ SHAAN_NOV21]
1. 1 [Option ID = 12439]
2. 2 [Option ID = 12440]
3. 3 [Option ID = 12441]
4. 4 [Option ID = 12442]

6) In folkloristics, the concept of ‘folk’ under globalization is associated with :

(1) Literate Communities (2) Imagined Communities

(3) Cyborg Communities (4) Liminal Communities
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[Question ID = 3245][Question Description = Q06_FolkLit_SHAAN_NOV21]
. 1 [Option ID = 12443]
2 [Option ID = 12444]
. 3 [Option ID = 12445]
. 4 [Option ID = 12446]
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7) The American Evolutionary School propagated by John Wesley Powell addressed the fourth stage of development as:
(1) Enlightenment (2) Industrialization

(3) Americanization (4) Modernization
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[Question ID = 3246][Question Description = Q07_FolkLit_SHAAN_NOV21]

1. 1 [Option ID = 12447
2. 2 [Option ID = 12448]
3. 3 [Option ID = 12449]
4. 4 [Option ID = 12450]

8) Omens and Superstitions of Southern India’ is authored by :
(1) David Kinsely (2) William Crooke

(3) Edgar Thurston (4) Charles E. Grover
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[Question ID = 3247][Question Description = Q08_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12451]
2.2

[Option ID = 12452]
3.3

[Option ID = 12453]
4. 4

[Option ID = 12454]
9) 'Myth is to be read literally, and treated as an explanation of certain phenomena” is the view of ;
(1) Levi-Strauss (2) Malinowski

(3) Carl Jung (4) J.G. Frazer
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[Question ID = 3248][Question Description = Q09_FolkLit_SHAAN_NOV21]
o1

[Option ID = 12455]
2.2

[Option ID = 12456]
3, 3

[Option ID = 12457]
4. 4

[Option ID = 12458]
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10) In his ‘Morphology’, Propp selected tales which are commonly referred to in English as ‘Fairy Tales’, but they were

classified earlier by Antti Aarne as:
(1) Tales of Magic (2) Wonder Tales

(3) Fables (4) Catch Tales
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[Question ID = 3249][Question Description = Q10_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12459]
2. 2 [Option ID = 12460
3. 3 [Option ID = 12461]
4. 4 [Option ID = 12462]

11) In Narratology, a term used by A.J. Greimas to describe the paired role as common to all stories is:
(1) Actant (2) Adage
(3) Agitprop  (4) Agon

=
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[Question ID = 3250][Question Description = Q11_FolkLit_SHAAN_NOV21]
. 1 [Option ID = 12463]
. 2 [Option ID = 12464]
. 3 [Option ID = 12465]
4 [Option ID = 12466)
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12) In the traditional sense, ‘Distinct and Self-defined literary types’ are considered as :
(1) Novels (2) Epics

(3) Genres (4) Grand Narratives
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[Question ID = 3251][Question Description = Q12_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12467]
2. 2 [Option ID = 12468]
3. 3 [Option ID = 12469]
4. 4 [Option ID = 12470]

13) Comparative method in folkloristics is the contribution of :
(1) Philosophy (2} Functionalism

(3) Philology (4) Structuralism
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[Question ID = 3252][Question Description = Q13_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12471]
2. 2 [Option ID = 12472]
3, 3 [Option ID = 12473]
4. 4 [Option ID = 12474)

14) The belief in indwelling spirits inherent in people, animals, plants or even lifeless things, often presented in
personalized or anthro-morphized images is proposed as the theory of ;
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(1) Monotheism (2) Totemism

(3) Polytheism (4) Animism
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[Question ID = 3253][Question Description = Q14_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12475]
2. 2 [Option ID = 12476
3. 3 [Option ID = 12477)
4, 4 [Option ID = 12478

15) The American scholars prominent in the development of Indexes essential to the Historic-Geographic method are :
(1) Franz Boas and Roger Abrahams (2) Wolfgang Mieder and Richard Dorson

(3) Stith Thomson and Archer Taylor (4) Axel Olrik and Julius Krohn
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[Question ID = 3254][Question Description = Q15_FolkLit_SHAAN_NOV21]
. 1 [Option ID = 12479]
2 [Option ID = 12480]
. 3 [Option ID = 12481]
. 4 [Dption ID = 12482]
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16) Who defined “folklore as, the entire body of ancient popular beliefs, customs and traditions which have survived
among the less educated of civilized societies”?

(1) Felix Onias (2) John L. Mish
(3) Warren E. Roberts (4} Alex Olrik
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[Question ID = 3256][Question Description = Q17_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12487]
2. 2 [Option ID = 12488]
3. 3 [Option ID = 12489]
4, 4 [Option ID = 124%0]

17) For Giambattista Vico, the “Mental language” manifests itself as man’s universal capacity to formulate :
(1) Functions (2) Structures
(3) Oral Formulaic (4) Performance
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[Question ID = 3257][Question Description = Q18_FolkLit_SHAAN_NOV21]
1. 1
[Option 1D = 12491]
2. 2
[Option ID = 12492]
%3
[Option ID = 12493]
4. 4

[Option 1D = 12494]
18) Saussure’s concept of ‘langue’ is related to the study of :
(1) Synchronic (2) Syntagmatic

(3) Diachronic (4) Dialectics
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(1) UFHIAH (2 foeng Faew
(3) = Hih (4 g g

[Question ID = 3258][Question Description = Q19_FolkLit_SHAAN_NOV21]
. 1 [Option 1D = 12495)
2 [Option ID = 12496]
3 [Option ID = 12497]
. 4 [Option ID = 12498]

oW =

19) Malinowski argued that the basic function of social system rests on the principle of :

(1) Self-satisfaction of basic needs (2} Social Contract

(3) Self-preservation of basic needs (4) Social Solidarity

HrenAiehl A qb fZo B avfores oxaven 1 gfd e sus fieaia ot e g 2 .
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[Question ID = 3259][Question Description = Q20_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12499]
2. 2

[Option ID = 12500]
3, 3

[Option ID = 12501]
4. 4

[Option ID = 12502]
20) In Psychoanalysis, inner conscience is equated with :

(1) Ego (2) Unconscious

(3) Sub-conscious (4) Superego
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[Question ID = 3260][Question Description = Q21_FolkLit_SHAAN_NOV21]
154

[Option ID = 12503]
2.2

[Option ID = 12504]
3 3

[Option ID = 12505]
4. 4

[Option ID = 12506]

21) 'Everyday life : A poetics of Vernacular practices” emphasizes ‘everyday-ness’, including aspects of sociability and
goodwill. This concept is initiated by :

(1) Erving Goffman (2) Roger Abrahams

(3) Richard Dorson (4) Clifford Geertz

Vwlis @EE: U UiuiiR AT iper HfFeEs A (everyday-ness) % wrr fremaiar/ Hfrgutar
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[Question ID = 3261][Question Description = Q22_FolkLit_SHAAN_NOV21]
o1

[Option ID = 12507]
2.2

[Option ID = 12508]
3, 3

[Option ID = 12509]
4. 4

[Option ID = 12510]

22) The idea of study as a kind of hermeneutic practice concerned with elicit narration of human social action in their
context as interpreted by the actors is termed as:

(1) Symbolic psychology (2) Emic description
(3) Thick description (4) Folkloristics

WA WA T 9agr % TR o B9 A H759FA 1 [SER o "ed W wedm va gt et &
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[Question ID = 3262][Question Description = Q23_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12511]
2. 2

[Option ID = 12512]
S

[Option ID = 12513]
4. 4

[Option ID = 12514]

23) One of the first sociolinguists who pioneered the connection between speech and social relations placing at the centre
the ‘Performative turn’ within social science is:

(1) Richard Baumen (2} Erving Goffman
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(3) Richard Hoggard (4) Dell Hymes
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[Question ID = 3263][Question Description = Q24_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12515]

2. 2 [Option ID = 12516
3, 3 [Option ID = 12517]
4, 4 [Option ID = 12518]

24) According to Bauman, what does ‘performance’ mean in the verbal art tradition?
(1) Artistic action and interaction (2) Artistic behaviour and values

(3) Artistic telling and re-telling (4) Artistic watching and listening
AT F ATAR Te¥A o i el ol ° ¥ A9 27
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[Question ID = 3264][Question Description = Q25_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12519]
2. 2 [Option ID = 12520]
3. 3 [Option ID = 12521]
4, 4 [Option ID = 12522]

25) Second-hand mediation and presentation of folk culture’ is defined as:

(1) Fakelore (2) Public Folklore

(3) Applied Folklore (4) Folklorismus

‘fodta AoRYE IR W% TR 1 T 1 58 F9 5 qeied R T
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[Question ID = 3265][Question Description = Q26_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12523]
2. 2 [Option ID = 12524]
3. 3 [Option ID = 12525]
4. 4 [Option ID = 12526]

26) Folklorism is defined as a ‘process of adaptation, reproduction and transformation of folklore™ by :

(1) Viktor Gusey {2) Felix Oinas

(3) Blogs (4) Instagram

AFATEIE  STTH 1 WA, THeaeH T AhaTal TR o ¥ ° g grr qieafya B e g
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[Question ID = 3266][Question Description = Q27_FolkLit_SHAAN_NOV21]
1. 1
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[Option ID = 12527]
o)

[Option ID = 12528]
3 3

[Option ID = 12529]
4. 4

[Option ID = 12530]
27) When ‘new folklorism studies’ were stimulated by Soviet folklorists, they favoured the term -
(1) Folk Art (2) Folk Creativity

(3) Public Folklore ' (4) Applied Folklor

9 WEEd AR gR  acihaEre AT i WicHied R T, SEH 3§ TR i aTHifed
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[Question ID = 3267][Question Description = Q28_FolkLit_ SHAAN_NOV21]
1. 1 [Option ID = 12531]
2. 2 [Optien ID = 12532]
3. 3 [Option ID = 12533]
4. 4 [Option ID = 12534]

28) 29. Internet functions more or less as a worldwide digital library and it impacts traditional forms like story telling
through :

(1) Android Tablets (2) Tik Tok

(3) Blogs (4) Instagram

T2t favarm ey o fefea yeawed & 9 H R WA 8 oIR qE HUETE SU URTie B9
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[Question ID = 3268][Question Description = Q29_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12535]
7.2

[Option ID = 12536]
3.3

[Option ID = 12537]
4, 4

[Option ID = 12538)]
29) The term ‘Glocalization’ coined by Roland Robertson is influenced by the concept of:

(1) Kolkhoz (2) Dochakuku

(3) Nongye (4) Popu

TS TIeH g g1 T 68 TAMFATSSmA 39 i SIaumon § g9 2 -
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[Question ID = 3269][Question Description = Q30_FolkLit_SHAAN_NOV21]
154

[Option ID = 12539]
2. 2

[Option ID = 12540]
3 3

[Option ID = 12541]
4. 4

[Option ID = 12542)]
30) 31. Hannerz’s model of the global ecumene founded on the dominant metaphor is known as:
(1) Heterogenization (2) Hybridization

(3) Creolization (4) Homogenization

T wiza’ =1 dfvas i W ATEEE BUE oF1 A6 2 —
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() U W (4)  HATAEHT H

[Question ID = 3270][Question Description = Q31_FolkLit_SHAAN_NOV21]
i

[Option ID = 12543]
7.2

[Option ID = 12544]
3. 3

[Option ID = 12545]
4, 4
[Option ID = 12546]
31) The concept of ‘Global melange culture’ through processes of cultural mixing is propounded by:

(1) Anthony Giddens (2) David Harvey

(3) Stuart Hall &nbsP; (4) Jan Nederveen Pieterse

‘et TS eer. i STAURI H WIEHias A0 % = § vfquten Fen-

(1) v s 3 @ e

(3 WA (4) = Jstf ufm =
[Question ID = 3271][Question Description = Q32_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12547]
Pl

[Option ID = 12548]
3.3

[Option ID = 12549]
4, 4

[Option ID = 12550]

32) Having a dramatic form of entertainment with subtle social criticism laced through humour as a part of ritual offering
made to Goddess Amba, is the speciality of the following folk theatre tradition:

(1) Garba (2) Tippani
(3) Dandiya Raas (4) Bhavai
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[Question ID = 3273][Question Description = Q34_FolkLit_SHAAN_NOV21]
R

[Option ID = 12555]
2. 2

[Option ID = 12556)
3, 3

[Option ID = 12557]
4, 4

[Option ID = 12558]

33) Mame of the dance of Lord Shiva that was performed when the Lord got enraged with Sati’s death, also known as the
Dance of Destruction in South India, is :

(1) Kaavadi Aatam (2} Veeranatyam

(3) Yakshaganam  (4) Tappeta Gullu

WiEE BT % 30 I3 % o ° qard S gt = Yoy % 918 T o, 39 digd I o giEr wRa ¥ R am
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[Question ID = 3274][Question Description = Q35_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12559]
2. 2 [Option ID = 12560]
3. 3 [Option ID = 12561]
4. 4 [Option ID = 12562]

34) The ‘Researcher tends to remain objectively separated from the subject matter’ is the type of research known as:
(1) Longitudinal (2) Quantitative

(3) Qualitative ; (4) Enthnographic

“sierRal fer Fevaagas fama-a5g i 9uF FE 1 oI 0@ T 21 59 TER % Wy B Ry am ©

AT AT R 7
(1) et s 2  ufeoneT
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[Question ID = 3275][Question Description = Q36_FolkLit_SHAAN_NOV21]
. 1 [Option ID = 12563]
2 [Option ID = 12564]
3 [Opticn ID = 12565]
. 4 [Option ID = 12566]

oW

35) In Ethnographic research, which involves the researcher’s self in making meaning, the significant issues that arise are
concerned with :

(1) Patent right {2) Copyright

(3) Ethical issues (4) Reprobate

‘SferTa ST H WY AGY s § wehdl G <fie % W 9T 2 8 ¢
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[Question ID = 3276][Question Description = Q37_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12567]
2. 2

[Option ID = 12568]
3.3

[Option ID = 12569]
4, 4

[Option ID = 12570]

36) The idea that cultural phenomena are different from those typically investigated in the physical sciences resulted in
the development of the following research method:

(1) Applied (2) Ethnography
(3) Quantitative  (4) Empirical

AiEptas aia w1 e 31 e ¥ oem 2 S o @ sifes Pen-fam 4 afSfa 2 S
gfomrasn frafafias mu-ngfa = e g 27
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[Question ID = 3278][Question Description = Q39_FolkLit_SHAAN_NOVZ21]
s U5 |

[Option ID = 12575]
2. 2

[Option ID = 12576]
2

[Option ID = 12577]
4. 4

[Option ID = 12578)]

37) In the field of research into oral epic forms, Lauri Honko's approach shifted the focus from the old literary theories to
new perspectives with a focus on the:

(A) Products of folklore
(B) Textualization process
(C) Producers of folklore
(D) Context to text
Choose the most appropriate answer from the options given below:
(1) {A) and (C) only (2) (B) and (C} only
(3) (C) and (D) only (4) (D) and (A) only
HiflEh e T Y % & °, s 561 B e 4 [ Hieica®d R ¥ T gemm i 3
SETT hizhY o TN TR 7T
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(B) WSy ufsen
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[Question ID = 3280][Question Description = Q41_FolkLit_SHAAN_NOV21]

e (A) 3 (C)
@ (B) 3t (C)
e (C) 3t (D)
Faa (D) ¥ (A)

1. 1 [Option ID = 12583]
2. 2 [Option ID = 12584]
3. 3 [Option ID = 12585]
4. 4 [Option ID = 12586]

38) Van Gennep emphasized that the phenomena of culture should be examined based on:

(A) Context

(B) Theatrical paradigm

(C) Natural environment

(D) Life course paradigm

Choose the most appropriate answer from the options given below:

(1) (A) and (B) only (2) {(A) and (C) only

(3) (C) and (B) only  (4) (D) and {A) only

& 9 A TR R T et B oitge w1 3m snan m i g =i -

(&)
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(©)
(D)
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(1)
(2)
3
(4)

[Question ID = 3281][Question Description = Q42_FolkLit_SHAAN_NOV21]

1.1

st
frauifes R
T T
e

Hae (A) 3R (B)
=had (A) 3T (C)

Faa (C) 31K (B)

[Option ID = 12587]

2. 2

[Option ID = 12588)]

Jvd

[Option ID = 12589]

4. 4

[Option ID = 12590]

39) Robert Redfield argued that the ‘folk society’ is distinguished by specific characteristics such as:

(A) Isolated

(B} Static
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(C) Monarchical
(D) Rural
(E) Self-Sufficient
Choose the most appropriate answer from the options given below:
(1) (B), (C) and (E) only (2) {(A), (C) and (E) only

(3) (D}, (B) and (C) only (4) (A), (B) and (E) only

a2 ishies 3 77 a G 5 T we’ @t e fafiee ffireastt g gz=m f ol =nfee, J9 5

(A fEfE
B) e
(© oo
D) FHm
(E) wfk

Hr f3u o frredl § © HuE SUgFd SR 1 A I ;

(1) = B). (C) 3R (B)
2)  FF (4), (C) 3R (B)
(3) ad (D). (B) 3R (C)
@  w=a Q). B) IR (E)

[Question ID = 3282][Question Description = Q43_FolkLit_ SHAAN_NOV21]
|

[Option ID = 12591]
2.2

[Option ID = 12592]
3.3

[Option ID = 12593]
4. 4
[Option ID = 12594]

40) 44. According to Walter Ong, in a primary oral culture, thought and expression tend to be driven by the
psychodynamics of :

(A) Grammatical rather than morphological

(B} Additive rather than subordinative

(C) Taciturnity rather then rhetoric

(D) Aggregative rather than analytic

Choose the most appropriate answer from the options given below:

(1) (A) and (C) only  (2) (B) and (D) only

(3) (C) and (B) only (4} (D) and (A) only
SR S SAR, T W W TR § 8 iR saferE T e A i B A s
Yo 7 2 -

(A) SRR Sl STHaT =THHE
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(B)  owfiaey i s @xifea
(C) (TR i U7 FF a5

(D) gt 6 s wegf

= fou 7o T O W TEd SUgEd SO W =E e
(1) FEa (A) 3R (O)
2) F= (B) 57k D)
(3)  @aw (C) 3ilt (B)
@ Ea (D) ¥R (A)

[Question ID = 3283][Question Description = Q44_FolkLit_ SHAAN_NOV21]
1. 1 [Option ID = 12595]
2. 2 [Option ID = 12596]
3. 3 [Optien ID = 12597]
4. 4 [Option ID = 12598]

41) Subaltern studies have been diversely influenced by the scholarship of:
(A) Anil Seal

(B) Louis Althusser

(C) Edward Said

(D) Raymond Williams

Choose the most appropriate answer from the options given below:

1) (A) and (D) only (2) (B) and (C) only

(3) (C} and (D) only (4) (A) and (C) only
SIFE STETE HAT-e ShR W R figar o v © # -

(A) A= T

(B) =9 ST
(C) TU=aE TEa
D) e fafkm=

=t fau e ferpeal A O wew SuEa IR R A Hifg

(1) == (A) 3R D)
2 W= (B) R (C)
3 %= (C) IR (D)
@ =9 (A) IR (©)

[Question ID = 3284][Question Description = Q45_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12599]
2. 2 [Option ID = 12600]
3. 3 [Option ID = 12601]
4. 4 [Option ID = 12602)

42) Formation of ‘Diasporas’ considers the heterogenity of the diasporic experiences of the members with attributions
relating to :
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(A) Displacement and Implantation

(B) Nation and Native

(C) Gender and Ethnicityv

(D} Race and Classv

Choose the most appropriate answer from the options given below:
(1) (A) and (B) only (2) (B) and (D) only

(3) (C) and (D) only  {4) {C) and {A) only

‘S fm’ = i gew & o @ wafia B et swet A fasrdiar # gmgan 27
(&) TR R ST

B T R e ()

(C) Fom o S

(D) =t stR A

et fau e el | U gey 3uged I 9A i

(1) = (@A) R B)
@ ¥ (B) IR (D)
®  Fa (O) ¥ (D)
4  FF (O) 3 (A)

[Question ID = 3285][Question Description = Q46_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12603]
2. 2 [Option ID = 12604]
3. 3 [Option ID = 12605]
4, 4 [Option ID = 12606]

43) Alan Lomax’s ‘Cantometrics’ can be broadly grouped into the domains of:
(A) Performance event

(B) Vocal performance

(C) Enactment structure

(D) Song structure

Choose the correct answer from the options given below:

(1) (C) and (Ay only  (2) (A) and (B) only

(3) (B) and (C) only ; (4) (B) and (D) only
UEH ST % Sheemir w1 S W & H i TR S meRar §
(&) TSI g
(B) TR HTSH
(C) g 5=

(D) e g
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Hre e e fopedl § ¥ Ue U ST 9E I
(1) a9 (C) I (A)
(2 Faa (A) I (B)
(3) Faa (B) I (C)
@) Faw (B) 3 (D)

[Question ID = 3287][Question Description = Q48_FolkLit_SHAAN_NOV21]
. 1 [Option ID = 12611]
2 [Option ID = 12612]
. 3 [Option ID = 12613]
. 4 [Option ID = 12614]

e it B

44) In folk literature, a rhetorical device used as completely infeasible idea is known as :
(A) Adynation

(B) Hyperbole

(C) Allusion

(D) lllusion

Choose the correct answer from the options given below:

(1) (B} and (C) only (2) (A) and (B) only

(3) (C) and (D) only (4) (A) and (D) only

HAETRITE TUFRT 2T TAPT IUTd: STAERIH 2, T8 UR0T @i dlfecd H aNRR H Sl ol |

(A) Tt
(B)  HdwElEd
(C)  Amia=

M) wm
=t faw e foepeal A O ged suga so w0 = Hifg

(L) ¥ B) 3R ()
(2) A (A) TR (B)
(3) FAF (C) &R (D)

@) ¥ (A) IR D)
[Question ID = 3288][Question Description = Q49_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12615]
7.2

[Option 1D = 12616)
3 3

[Option ID = 12617]
4. 4

[Option ID = 12618]

45) According to Evans-Pritchard, two versions of a dream theory of the origin of religion based on primitive cultures,
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include:

(A) Somatic theory

(B) Ghost theory

(C) Soul theory

(D) Spiritual theory

Choose the correct answer from the options given below:
(1) (B} and (A) only

(3) (B) and (C) only

sam-fizaE % sFEn weh gerfea | anaia ol % gm & wmw g % sem %

wfefem 2 -

(a) s fagm
(B) a fagma

(©  Stawe g
(D) oo g

(2) (C) and (A) only

(4) (A) and (D) only

I T v e O 9 OE SO E 999 i

(1)
2
(3)
@

[Question ID = 3289][Question Description = Q50_FolkLit_SHAAN_NOV21]

el (B) ¥R (A)
Fee (C) 3 (A)
= (B) ¥R (C)
el (A) FI (D)

1. 1 [Option ID = 12619]
2. 2 [Option ID = 12620
3. 3 [Option ID = 12621]
4. 4 [Option ID = 12622]

46) The Historical-Geographical method was influenced by the approaches of :

(A)
(B)
(€)

(D)

Choose the correct answer from the options given below:

(1) (A) and (D) only

(2) (A) and (B} only

(3) (C) and (D) only

(4) (B) and (D) only
ofiraifirs-siitfers wghy 39 gl
(A) HTHTEE
(B) Tatfesm=
© wEg e

Philology

Phonology

Andrew Lang

Darwin

e

THIEd

9

gt "
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D) R

=t fau Tu forpedt 8 @ ws@ suIeE SO A W Fif

(1) %= (A) 3R D)
(2) wa (A) R (B)
3 % (O) ¥k (D)
@ = (B) 3 (D)

[Question ID = 3290][Question Description = Q51_FolkLit_ SHAAN_NOV21]
1.1

[Option ID = 12623]
2. 2

[Option ID = 12624]
3.3

[Option ID = 12625]
4. 4

[Option ID = 12626]
47) According to Tristram Potter Coffin (1977), American Ballads are different from British Ballads as they :
(A) Concentrate on exposition and have supernatural motifs
(B) Tend to be shorter and more lyrical
(C) Concentrate on the climax and have rationalistic motifs
(D) Tend to be complex and more poetic
Choose the most appropriate answer from the options given below:
(1) (B} and (A) only (2} (A) and (C) only

(3) (B} and (C) only (4} (D) and (A) only

feregm et HfET (1977) % 3HEn iR Tt fafen martal o sem 2 w=ife 9
(A)  Ufa9IeEd W S whisgd g & 31 Soilfehs w0 U g f$9Ea ol 2

® B 3R sl Harearar 1 21K g9 2 2|

(©) =Hicht W oIH hisd 2 3R IfFaqes aad &9 4 2 2
D) i 3t FeneTEaT B AR YT 2 2|

e f2u o farmewl § © AE SUgad TR W =T IS

(1) = (B) 3R (A)
@  FE A) IR ()
(3) = (B) IR (O
@ W D) AR Q)

[Question ID = 3292][Question Description = Q53_FolkLit_SHAAN_NOV21]
. 1 [Option ID = 12631]
2 [Option ID = 12632]
3 [Option ID = 12633]
. 4 [Option ID = 12634]

oW



www.prepp.in

48) Freud speaks of ‘Eros’ as a basic instinct and it comprises :

(A) Subjective - love

(B) Ego - love

(C) Superego - love

(D) Object - love

Choose the most appropriate answer from the options given below:

(1) (B} and (D) only (2) (B} and (C) only

(3) (A) and (D) only (4) (A) and (C) only

(A)
®)
(C)

(D)

HTeqTd 94
Crogin
TE, T

TETT I

A fau o fomeut ¥ ¥ aew IugHd ST =AT HIT ;

(1)
(2)
(3)
(4

[Question ID = 3294][Question Description = Q55_FolkLit_SHAAN_NOV21]
1 [Option ID = 12639]
2 [Option ID = 12640]

[Option ID = 12641]
[Option ID = 12642]

1.
2.
3.3
4. 4

49) According to Yan Gennep, a common component of the traditional phase of initiation rites includes :

A (B) 311 (D)
a3 (B) ¥R (C)
A (A) 3R (D)
Fae (A) IR (C)

(A) Family mutilation

(B) Genital mutilation

(€) Tattooing

(D) Body art

Choose the most appropriate answer from the options given below :

(1) (B} and (D) only
(2) (B) and (C) only
(3) (A) and (C) only
(4) (A) and (D) only

aH S=T1 % IATER, TG SSE % IRUieh 98 % 31 FEE ST ° wite ©

(A)

it 3rTese

- - “
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[Question ID = 3295][Question Description = Q56_FolkLit_ SHAAN_NOV21]
1.

50) Turner suggests that we should distinguish three levels of symbolic meaning in the study of cultural practices as :

(B)
©)
(D)

= faw o feredl B W T STEEd SR B =EA FI

(1
2
(3)
(4)

1

SR FTD2
AT

7 el

#ae (B) ¥ (D)
A (B) 3 (C)
Fael (A) AR (O)
wae (4) A (D)

[Option ID = 12643]

ri

[Option ID = 12644]

53

[Option ID = 12645]

4

[Option ID = 12646]

(A) Exegetical meaning

(B) Operational meaning

(€) Positional meaning

(D) Deeper meaning

(E) Literal meaning

Choose the most appropriate answer from the options given below:

(1) (A), (B) and (C} only (2} (A), (B) and (D) only

(3) (B}, (C) and (D) only  (4) (A), (B) and (E) only

TEalad Fid & 7 5 TEptas Tl % AYEE ¥ Wdidieds el i dF e 8§ gufiag F = -

(4)
(B)
©)
(D)
(E)

e fu v et § W ge ST SR 9 Hifre

(1)
)
(3)

HTEATHF 39
TS 919
e 19

Tifeeh A

e (A), (B) 3R (O)
HI (A), (B) 3R (D)
e (B). (C) 1R (D)

.nl_._ FA TN o o LY _.ni.. Fb o 1Y
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2/ AT SRy AL TR (L)

[Question ID = 3296][Question Description = Q57_FolkLit_ SHAAN_NOV21]
1.1

[Option ID = 12647]
2. 2

[Option ID = 12648]
3.3

[Option ID = 12649]
4. 4
[Option ID = 12650]
51) When New Folklorism studies were stimulated, the Communist folklorists favoured the terms?
(A) Folk creatvity
(B) New Media Creativity
(C) Contemporary Folklore
(D) Post-modern folklore
Choose the most appropriate answer from the options given below:
(1) {(A) and (D) only (2} (B) and (C) only

(3) (A) and (C) only  (4) (C) and (D) only
= ffem 7= =1 o1 IR W 9 S 2
(4 Towe = (Fam)

(B) HIEEHRE

(©) e gl (gel )
D =

9 fu U frrew O W weE ST IR A = I

(1) % (A). (B) 3 (C)
@ ¥ (B). (C) ¥ (D)
3  Fa (A), (C) 3t (D)
4  Fd (A). (B) 3 (D)

[Question ID = 3297][Question Description = Q58_FolkLit_ SHAAN_NOV21]
1.1

[Option ID = 12651]
%2

[Option ID = 12652]
3.3

[Option ID = 12653]
4, 4

[Option ID = 12654]
52) New Media Platforms are commonly considered to include :

(A) Linked In

(B) Broadcasts
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(C) Open Diary

(D) Reddit

Choose the most appropriate answer from the options given below:
(1) (A), (B) and {C) only  (2) (B), (C) and {D) only

(3) (A), (C) and (D} only  (4) (A), (B) and (D) only
= Tafen 7= =i a1 o’ W 9 9 2
(4 T = (Fe)
(B) =R

(© e gedl (gel )
O =

4 fu U forrem O W Tey ST SR = I

(1) % (A), (B) 3 (C)
@  F=d (B). (C) ¥R (D)
3 % (A), (C) 3 (D)
4  FFd (A). (B) 3 (D)

[Question ID = 3298][Question Description = Q59_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12655]
1)

[Option ID = 12656]
3,53

[Option ID = 12657]
4, 4

[Option ID = 12658]
53) Identify the scholars who linked folklorism to the processes of modernization and globalization :
(A) Konard Kostlin
(B) Felix J. Oinas
(C) Yuriy M. Sokolov
(D) Hermann Bausinger
Choose the most appropriate answer from the options given below:
(1) (A) and (D) only {2) (B} and (C) only

(3) {(C) and (D) only (4) (B) and (D) only

= fagr =t fafa fife e smufem wa dvdiero =1 afsmnet i Aepardt o =St 21
A) e e

(B) eiwg o, HifHwE

() 373 s WPy 1o [ 11
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LIS

D) T IR

F fim oo frret § ¥ T ST SR W 9 HI

(1) e (4) i D)
2 %A« (B) 3R (C)
(3) A (C) 3t (D)
@ e (B) #i (D)

[Question ID = 3299][Question Description = Q60_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12659]
2. 2

[Option ID = 12660]
3.3

[Option ID = 12661]
4. 4
[Option ID = 12662]
54) “McWorld as a totalizing force intent on Americanizing everyone and everything in its path” is the view expressed by :
(A) Benjamin R, Barber
(B) Benedic Anderson
(C) Stuart Hall
(D) Mike Featherstone
Choose the most appropriate answer from the options given below:
(1) (B} and (D) only  (2) (A) and (B) only
(3) (A) and (C) only  (4) (C) and (D) only
Fepared U THfE WE 2 W v ny H smErel W S o v Rl w1 srie e we e 21 T
sAfma Faeep 27
&)  SRA AR AR
B  wHEE T
© wHETw
D) wiTF PEweH

+ fou U ool O © HeE SUEEd TR W =ES SIS

1) ¥ B) 3k D)
@  F (A) IR B)
®  F (A) I (C)
@ %= () 3 (D)

[Question ID = 3300][Question Description = Q61_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12663]
| 2. 2 [Option ID = 12664]
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| 3. 3 [Option ID = 12665]
4. 4 [Option ID = 12666]

55) Two methodological approaches which provide a basic foundation for qualitative approach in the development of social
science research are :

(A) Action Research

(B) Ethnography Research

(C) Case Study Research

(D) Experimental Research

Choose the most appropriate answer from the options given below:
(1) (B} and (D) only (2) {(A) and (C) only

(3) (B) and (C) only  ({4) (C) and (D) only
TR T T o ST R % TSP R YE SR WEE a1 g Iened] ae aAtiem -
(A) BRI SEEEE
(B) IR IEEE
(C) wafad AT FAEUH
D) e sEEaE

Jr= feu ¢ ket § @ weH ITIed SAt = =EE HifA

(1) = (B) AR D)
@ e (A) #i(C)
(3 Faw (B) 3 (O)
4w (O) R (D)

[Question ID = 3304][Question Description = Q65_FolkLit_ SHAAN_NOV21]
1. 1 [Option ID = 12679
2. 2 [Option ID = 12680]
3. 3 [Option ID = 12681]
4. 4 [Option ID = 12682]

56) Match List | with List 11 ;

List | List Il
Scholars Area of study
(A} Hanna de Bruim () Telugu Folklore
(B) Gene H Roghair () Kannada Folklore
(C) Benjamin L. Rice (I} Malayalam Folklore
(D) Phillip Jarrill (Iv) Tamil Folklore

Choose the correct answer from the options given below:
(1) (A)-QI), (B) - {v), (€) - ), (D) - ()
(2) (A)-0v), (B - an, (€} - am, (D) - ()

(A)- (), (B) - (h, (C) - ), (D) -
(IV)

(A) - (IV), (B)
()

Tt I % w gt 1L =1 frer =it

(3)

(4) M, (€ -, (D) -
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(A

(B)
(©)
(D)

T 1 (Frgm)
7T 2 gun
S T A
frfera St

celpifcizeritr))
(@ dF Al
(II) =I5 wirardm

i f
(II) #ATHATTH Arendrdl

(IV) dfie Sepamal

Hit fow T RmeeTt & w9 3T w1 == Hif

1)
@)
(3)
(4

&) -@n. @ - av),
@A) -av), @ - {dD,
@)-a, @B - @,
@A) -av). @ - @,

©€) - I, O - @
(C) — a1, M) - D
(C) — D), D) - (IV)
©) - an, @O - dm

[Question ID = 3306][Question Description = Q67_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12687]

2.2

[Option ID = 12688]

353

[Option ID = 12689]

4, 4

[Option ID = 12690]

57) Match List | with List Il ;

(A)
(B)
(€)
(D)

List |
Concept
Acryology
Ditty
Cant

Anachorism

List I
Meaning
(I) A composition to be sung
(I} The jargon of slang
(Illy Misplaced action, scene

{IV) Obsolete diction

Choose the correct answer from the options given below:;

(A) - (IV}), (B)

m, (€ - 0, (D) -

M
(2) :;’I\I)}- (Ivy, (B) - (I), ©) - (), () -
(3) :f;}}' amy, By -y, (€ -, (O -
@) (A)-(0V), B - (), (€ -, ({©) -
T 1% o geft 11 1 firerm Hifsre
S (e o T (1)
@ “wee) @ =S e e
® =2 AD zravmwr Y fafe weEEe
€ D wafm s, Hid
P e (IV) sTo=EeE o

Fr= fom o et & ) s @ 9 Fifw

1

@A) —-3avy. @ — d,

€ -@. (D - a1
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2 @W-aV). B -0. (© -4a) @O - J
() @-d4n, @ -an ©-o, @O -adv
@ @W-Iv). B -dD © -d, O - O

[Question ID = 3307][Question Description = Q68_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12691]
5.2

[Option ID = 12692]
3.3

[Option ID = 12693]
4, 4

[Option ID = 12694]

58) Match List | with List Il ;

List | List I
Romantic Nationalists Country of Origin
(A} R, Kreutzwald () German
(B} Wilhelm Jordan (Il} Russia
(C) Krisjanis Barnos (lll) Estonia
(D) N. Rybrikov (IV) Latvia

Choose the correct answer from the options given below:

(A) - (1), (B) - (I, (€) - (), (D) -
(V)

(2)  (A)-0v), (B - (), (€ -, ({)- ({0
(A) - (i),  (B) - (1), €y - (v), (D) -

(1)

(3) (1)
(A) - (1), (B - (I}, (C) - (M), (D) -
(4) (V)
oot 1% @t g 11 1 e i -
gl I (wr=sg wgard) =i 11 (9 231)
(A) IR Grzmaws O =
(B) faeem =tew an ==
(C) Trasitm sara (11T T
(D) uA fafea IV) enfafmm

# fau v feraeT 4 o sE % 99 il

1  @-0, G -d) O -d3d, O - av
@ @-av. B -dh, © - a, @O - @O

@ @W-dh ® -@O. (© -avi. @O — an
@ @W-0 6-4d. ©-dn @O - adv

[Question ID = 3308][Question Description = Q69_FolkLit_SHAAN_NOV21]
T

[Option ID = 12695]
2. 2

[Option ID = 12696]
3.3

[Option ID = 12697]
4, 4
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[Option ID = 12698]

59) Match List | with List 1l :

List |

Books

(A)
(B)
(€)
(D)

The hero of tradition

The myth of the birth of the hero

The hero with thousand faces

Recurring themes in myth and
mythmaking

List Il
Approaches

(N Psychoanalytical
(I1) Rites of passage
(Il1y Analytical psychology

(1Y) Structural

Choose the correct answer from the options given below:

(1) (A) - (1), (B - {IV), (C) - (), (D) -
(i
(Ay-{m, (B - m, (© - ), (D) -
2 v
(A) - (IV), (B) - (), (€) - (I, (D) -
G
(4) :ﬁ; (ny, By - (v), () - (I}, (D) -
wfi 13wy gt 11 =61 e =it
g 1 (75) T 11 (i)
(&) = IR o IS () THATfaTeToTca®
B) = fau site g =9 s g iy (D) SfrEa-amn 99
(© = fag usss g (1D fryeoms THifmn
(D) i ofimm =7 g v fiemy (IV) EEAETRE
= i v ool o @8 SO F 99A Fi
1 @-O @®&-3dv), © -4an. @) - Jm
(2) A -ddn. B) - adnp, © - @O, @O — av)
3 @W-aV. ®-0O © -d. @O - Jm
@ @-3n ®-av), ©-O, @ - d

[Question ID = 3309][Question Description = Q70_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12699]

AN

[Option ID = 12700]

e

[Option ID = 12701]

4, 4

[Option ID = 12702]

60) Match List | with List Il :

(&)
(B)
(©)
(D)

List |
Scholars
Milton Singer
Erving Goffman
Richard Schechner

Roger Abrahams

List I
Concept
()  Total institution
{ll) Rasaboxes Technique
() Folklore creolization

(I¥) Heterogenic centres
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. Choose the correct answer from the options given below:

- (), (©) - (), (D) -

(A)- (),  (B)
@

(2) (1)

(A) - (),  (B)
(1

(A) - (IV), (B)
(i

(3)

(4)

(A)- (IV), (B} - (I},

- (D,

- (), (€)

(€)

(€ - am, (@) -

- (1), (D) -

-, (@) -

=t 1% =y g 1T 1 e it

T I ()
(A) ez fom
B) s AiH
(C) Toxs waR
D) TR IWTEH

Felt I (37aemem)
D T wE
(ID) Uy a1
(ILL) <

aV) foremdiE %

+fra v 7o frrereat o 8 o0 = w99 Fifiw

1 W-O.

2 @-av,
3 @-db,
4 @A»-av),

B) — db,
® - @.
(B) - (IV),
®B) - O.

(C) — dip, O — av)
€) - dh. O - d)
G -@ @O -Jd
© - dn, @©) - d

[Question ID = 3310][Question Description = Q71_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12703]
2. 2

[Option ID = 12704]
S

[Option ID = 12705]
4, 4

[Option 1D = 12706]

61) Match List | with List Il :
List |
Concepts
(A) Aura
(B) Civil Society
(C) Carnivalesque

(D} Closure

List Il
Propounders
(1) Catherine Besley
(I) Mikhaill Bakhtin
(Ill}y Walter Benjamin

(IV) Antonia Gramsci

Choose the correct answer from the options given below:

(1) W-an, (B - (v), (€} - iy, @) - (0

(2) (V)

Ay -, By - (n, (€) - (), (D) -

(3) @)-av), (B) -, (€) -, (D) -
(4) (A)-(), (B) - (v}, (€)- (), (D) - ()

= 1% g gt 11 =1 Frers shifse
=i 1 (eraumeT)
(A) T9HsSH
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(B) =riies @4
(C) =mfdaey o

(D) @A

1 B T fFweeTt § U9 SR F 99 HIT

1 (A-d@.
@  @A-0.
3  @A-aAW.
@ (-1,

(B) - AV,
(B) — (),
(B) — D,
B) - AV),

(C) — D),
(C) — (),
©) — ab.
© - ab,

(1) TomEe siea
(L) =Tk ST
(IV) aiEr Tt
(D) - D
(D) — (IV)
(D) — @
D) - [

[Question ID = 3312][Question Description = Q73_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12711]
2.2

[Option ID = 12712]
3.3

[Option ID = 12713]
4, 4

[Option ID = 12714]

62) Match List | with List 1l :

List | List Il
Indian State Cuisine
(A) Manipur () Jadoh
(B) Arunachal Pradesh (I} Chakhwi
{(C) Tripura () Kangshoi
{D) Meghalava {I¥) Thukpa
Choose the correct answer from the options given below:
(1) (A)-Qu), (B) - (v}, (€) - (), (D) - ()
(2) (A)-0v), B -y, () -, (D) - {0
(A) - (1), (B - (), (€} - (V), (D) -
(3) ()
(A)- (i, (B) - (), (€) - (I}, (D) -
(4) (V)
gt 1% o g=h 11 % P i ;
gl I (9 Td) et I (7ha)
(&) R M e
(B) TS T2W D =@
(©) fgu (IIT) T
(D) wETeE (IV) 2=
= few o foerenl o TR SRR W = i
(D (A)-{mn, @ - av, € -Jan, @) - O
(2) A —-{1v)y. B - dp, ) - dnp, @O - @
@ @W-0O @G -ada. (© - adv). (D) - JdI
4 @-4dn, ® -an, © -@O, O - dv)

| [Question ID = 3313][Question Description = Q74_FolkLit_SHAAN_NOV21]
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|

[Option ID = 12715]
1)

[Option ID = 12716]
3.3

[Option ID = 12717]
4. 4

[Option ID = 12718]

63) Match List | with List 1l :
List |

Approaches

(A} Contextual
(B} Psychoanalytical
(C) Philological

(D} Phenomenoclogical

List Il
Practitioner

()] Ernest Jones

(I)  Arnold Yan Gennep
(1) Erving Goffman
(I¥) Milman Parry

Choose the correct answer from the options given below:

(1) (V)

(2) (A)-0v), B - ay, (€

A -y, @ -, (©-a, (@O -

-,  (P) - )
(A)- ), (B) - (I}, €y - (v), (D) -

(3) (I
(A) - (1), (B) - (), (€) - (I, (D) -

(4) (V)

=t I =k oy gt 11 %7 e $ifs
=it 1 (i) gt 11 (1)

(A) TR (D oFee "
(B) IS (I) 3Ffes T I
(C) a'rqzﬁrnxﬁa (IID) stfemi e
(D) =R ar e (IV) foeds o
9 fau o frsereut O OEl s W = fifew

1 @-dn, @ - @O,
@ @A-av. ® - d,
3 @M. @G - O.
@ @W-0, @® - Jdb,

© -1, @O - av
©€) - am. @O - @

€ — av). Dy — aln
© - I, @O - av

[Question ID = 3314][Question Description = Q75_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12719]
Pl

[Option ID = 12720]
3.3

[Option ID = 12721]
4. 4

[Option ID = 12722]

64) Sequence the development of concepts of folklore in chronological order :

(A) Cultural Capital
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. (B) Mythopoeic Age
(C) Binary oppositions
(D) Ethnography of speaking

Choose the correct answer from the options given below:
(1) (B), (B), (C), (A)
(2) (C), (B), (D), (A)
(3) (A), (B), (D}, (C)
(4) (B), (€}, (D), (A)

A6 FA1 1IN 5 FoFE F FAFATER FH 9g HIL

(A)  HREFaE TIaEl
(B) TR I
©) o= afemm

(D)  awrgar/=nfimen =i et auH

F9 o v feT O B WE I E 99 ST

O ®. O, 0. @
@ (©O.®.0O.A
3 A, B).M0.©O
@ ®.©O.0.W

[Question ID = 3315][Question Description = Q76_FolkLit_ SHAAN_NOV21]
1. 1

[Option ID = 12723]
2. 2

[Option ID = 12724]
3.3

[Option ID = 12725]
4, 4

[Option 1D = 12726]

65) Sequence the comparative philologists with their countries of origin from West to East ;
(A) Filip Yezdin

(B) William Jones

(C) Franz Bopp

(D) Georges Dumezil

Choose the correct answer from the options given below;
(1) (D), (B), (A), (C)
(2) (C), (D), (B), (A)
(3) (A), (B), (C), (D)
(4) (B), (D}, (A), (C)

TS AT = 3% 3G o 4 % MR W uivem o G4 % %9 § Fuag Hitg)

Ay o F=fsa
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B) Taiemm I
(C) wia =y
D) e gt

= feu U Taweg! 7 ¥ wE I o1 "= i

@» DB, Q. O
@ (©.D)®. &
@ @3 ©O.O
@ ®B.D A .0

[Question ID = 3319][Question Description = Q80_FolkLit_ SHAAN_NOV21]
1.1

[Option ID = 12739]
2. 2

[Option ID = 12740]
3.3

[Option ID = 12741]
4, 4
[Option 1D = 12742]
66) Arrange in sequence the scholars who worked on Rites of Passage?
(A) Maurice Bloch
(B) Yan Gennep
(C) Edmund Leach

(D) Victor Turner

Choose the correct answer from the options given below;
(1) (C), (D), (B), (A)
(2) (B), (C), (D), (A)
(3) (B), (D), (C), (A)
(4) (A), (B), (D), (C)

3 g W e SR aw R W S BT 2w SN O SEaied i
a) it s

(B) 7=

(C) vueATS T

O foE s

% fou e fwedt 4 ¥ = w9 it

1 ©O. D). B). A
@ ®.0, D). &
3 ®.0.0.®
@  (A).B. D).
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[Question ID = 3320][Question Description = Q81_FolkLit_SHAAN_NOV21]
154

[Option ID = 12743]
2. 2

[Option ID = 12744]
3 3

[Option ID = 12745]
4. 4

[Option ID = 12746]
67) Arrange in sequence the concepts related to second life of folklore :
(A) Folklorismus
(B) Folorization
(C) Public Folklore
(D) Fakelore

Choose the correct answer from the options given below:
(1) (B), (D), (A), (C)
(2) (A), (D), (B), (C)
(3) (C), (B}, (D), (A)
(4)  (A), (D), (C), (B)

Arrardl fgd g O Fefte JauaRenst @ w9 T s9giad Shifau

(A)  Fiweliand

(B) SiFardre®

(C) A =i

D) FFAR

9 feu o famwegt T O T2 I F1 99T HIAT

D B, D) @A) O
@ A& MD).®. O
@ (O B). D). "
4 @AM, OB

[Question ID = 3321][Question Description = Q82_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12747]
2. 2

[Option ID = 12748]
e

[Option ID = 12749]
4. 4

[Option ID = 12750]
68) Arrange in sequence the social movements in India :
(A) Jungle Bachao Andolan
(B} Chipko Movement

(C) Jan Lokpal Bill
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(D) Narmada Bachao Andolany

Choose the correct answer from the options given below:
(1) (B), (D), (C), (A)
(2) (C), (D), (B), (A)
(3) (B), (A), (D), (C)
(4) (C), (B), (D), (A)

W | 39 OIS STREIHT 51 PAelg it ;
(A) T SIS IR

®) ot e

(C) oA d-Tie T

(D) el 9= FEeH

= 2w v faepedl A T @l I w1 =eE i

@O B. D), ©C). A
2 (O). D), B). &)
@ (B. . 0.0
@ (O, B). @M. A

[Question ID = 3322][Question Description = Q83_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12751]
2.0

[Option ID = 12752]
3 3

[Option ID = 12753]
4, 4

[Option ID = 12754)
69) Arrange in sequence the ethnic cuisines of India from North to South
(A) Kuzhi Paniyaram
(B} Kafuli
(C) Bhutte ka Kees
(D) Pootha Rekulu

Choose the correct answer from the options given below:
(1) (B), (€), (D), (A)
(2) (B), (D), (C), (A)
(3) (C), (B), (A), (D)
(4)  (A), (B), (O), (D)

YT % T (TdE) =HeET B ST W W 6 H9 °§ FAeg H -
(A)  FE UFERA
B  Fged
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©) ¥ wHw
D) 9N T

S fou v e § O wE SR 9 =9 I

@O ®.©O.0.@
@  B.D). 0. AW
3 (OB, A, D)
9 @A) 3. ©),. D

[Question ID = 3323][Question Description = Q84_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12755]
Ll

[Option ID = 12756]
3.3

[Option ID = 12757]
4. 4

[Option ID = 12758]

70) Arrange in sequence the steps involved in preparation of research designs appropriate for a particular research
problem :

(A) Objectives of the research study
(B) Sample design

(C) Tools for data collection

(D) Methods of data collection

(E) Data analysis

Choose the correct answer from the options given below:
(1) (A), (C}), (B), (D), (E)
(2) (A), (D), (B}, (C), (E)
(3) (C), (B), (D), (A), (E)
(4) (E), (A), (B}, (), (D)

forelt fafore =iver e % Forw, sweEa wie aftepean % Sun § fue g1 =i FAsg hifaT
(A) Y IERA *F 39

(B) i ferer

(C) =131 TUE % 7=

D)  AFT WE Fi YO
(B)  =Tum =l feiom

H= f2u u famreal 4 o 39 @ A Filw

D @, ©). ®). D). E)
@ &), D), B ©). E)
3 (0, (B). D). (A), (E)
@  (E).A). 6. ). O
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[Question ID = 3324][Question Description = Q85_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12759]

2. 2

[Option ID = 12760]

S

[Option ID = 12761]

4, 4

[Option ID = 12762]

71) Given below are two statements:

prepp
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Assertion A : Like Propp, Levi Strauss had proposed a formula for the structure of narrative; but unlike Propp, his formula
was totally alegebraic involving ‘functions’ and ‘terms’.

Reason R : Levi Strauss contended that mythical thought always works from the awareness of oppositions towards their

progressive mediation,

In the light of the above statements, choose the correct answer from the options given below:

(1
(2)
(3)
(4)

Both A and R are true and R is the correct explanation of A
Both A and R are true but R is NOT the correct explanation of A
A is true but R is false

A is false but R is true

=t g1 woe f3u e | uw atfieeE (Assertion A) % 1 § fofiga ® 9 @@ 399 #RW (Reason R) &
w0 ;

AP A : T F HUH, T T A F T U TN Tied R 2 T W9 % B

faaiia ST STen e SemiEE @ e wem o wg it 2

FOTR: ol w2@ 3 o o B fofim fam eiw afiwy 5 siv @ ool semeya i 218 1w\

|

IUTR FUT % e A, 9 Bu o fen 1 o odi s % = it

(1)
)
(3
C))

A 3R R TF! W21 2 3T R, A =1 T8l =me 2

A 3R R 2F1 wE1 £ fF R, A #i w8 =men 76 2
AT 2 ofF R w8 = A

A ot 7€ ¢ @fF R @8 2

[Question ID = 3325][Question Description = Q86_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12763]

2. 2

[Option ID = 12764]

S

[Option ID = 12765]

4. 4

[Option ID = 12766]

72) Given below are two statements:

Statement | : The study of folklore performance is grounded in the ethnographic descriptive tradition, hence, the search for
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universals is inevitable.

Statement Il : It is possible to describe a behaviour as universal without defining its biological foundation in the case of
cultural performance

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement | and Statement Il are true.

(2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true
£ 3wy fem mm &

FIAIL : AR Y W AT FARA aviers WoU W aehd ? safan st % fog e

i {

HIEH =

FO Il  EH® eI b frr 0 sus Al e = afonfia fee e s w5 aEsifies g

FET TE B

IR U = e °, 4= 2 70 fameul § 9 ggt 39w 999 Hifag)

() w1 e I A = 8
@  Fu= I &R I 2M Terd 2
(3 w2, St % I e )
4 = I 2, A % I 9d 2

[Question ID = 3326][Question Description = Q87_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12767]
2.3

[Option ID = 12768]
3.3

[Option ID = 12769]
4. 4

[Option ID = 12770]
73) . Given below are two statements:

Assertion A : Europeans were increasingly willing to deal with folklore ‘out of context’; i.e. with the ideological, political,
social and economic implications of applied

folklore.
Reason R : Folklore is commonly recorded as commercialized folklore and is manifested in an objectified form.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A

(3) Ais true but R is false

(4) A is false but R is true

I 31 FoA 2o 3

FAAl 0 IS A A G|l % Hed o Sl R 99T 38 TEee W faen e % fa sanfza 4
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A % )
FURII:  Aopardl TTERUETT SHUTGH oehdTal & &9 8 arfifefiaa 2 oft asrens =0 8 =a9a 2

I A % AT °, A= Gy 7 e § @ wd Iw w e A

(1) AR R I W2 AR, A i T =mew 2)

@  ARRIFA T E W R, A Fi W = T 2
® A= 2 R T A

4  AwdaE 2 @l R wd 2

[Question ID = 3327][Question Description = Q88_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12771]
B3

[Option ID = 12772]
3.3

[Option ID = 12773]
4. 4

[Option ID = 12774]
74) Given below are two statements:

Statement | : Hypertext is a form of electronic writing that allows writers to link paragraphs or pages using computer -
mediated connections between discrete ideas.

Statement Il ; In shaping hypertext, its inventor, Ted Nelson’s fundamental insight was the notion that human thinking is
unilinear,

In the light of the above statements, choose the correct answer from the options given

below:

(1) Both Statement | and S5tatement Il are true.
(2) Both Statement | and Statement Il are false,
(3) Statement | is true but Statement Il is false

(4) Statement | is false but Statement Il is true

A& & %o fiw e ¥| v otfiEuR (Assertion A) % ® § fftw # 9 2w 39% FWW (Reason R) %

=1 H

FHI :  FEURHRE FARINE AT B TF T & A @Bl ol e i gl @ wree -
AR © e T TR A Bl

FRII:  TRTPHE FI AR 34 50 I SAVRNE IS Hoie i ge sasfe Tz uwon ofi B aee

o= s i 21

SYTRR WU T o7 A, 9 B Beeew § 9 od 3w w e i)

(1) w9913k II9d 2
(2 wFEIRIITeE:
8 w1 TE 2 S a1 e 2

@) I 7Tem 8, | wE I EE B
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[Question ID = 3328][Question Description = Q89_FolkLit_SHAAN_NOV21]
T

[Option ID = 12775]
2. 2

[Option ID = 12776)
3. 3

[Option ID = 12777]
4, 4

[Option ID = 12778]

75) Given below are two statements:

Assertion A : The cultural inferences arrived through ethnography grow from the interpretations of three primary sources :
what people say, what people do and the artifacts that they make and use.

Reason R : When fieldnotes, interviews and collected artifacts are separated from the social context in which they are
produced, the defining character of ethnography is lost,

In the light of the above statements, choose the correct answer from the options given below:

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A

(3) Ais true but R is false

(4) Ais false but R is true

=1 31 9 fqu e 2| ww fiee (Assertion A) % ®u H fofigg ® a9 gow STk %R (Reason R)

w9

HAUFIH A ; TEGEIE % HOTH U TRl WieHah A o gerdd Wi H Soa sl 8| S 9 Fad 8
A T TG & I ProTsTEer S g T B S T w1 A

FOTR : T & oTiEs, TITeRR U UHGId Ul 39 ST Fedl © fomH ST St
T 2, B Y W & T 99 Jenta av i aieniis e gw 8 S 3

SULRR FUT F 7T H, 9 B T fepew § O o 3w s g Filw)

(1) AR RIA T2 3R R, A S T = 2

(2) AR R wd F @ R, A B ¥ = 7@ 2
(8) A wd 2 Rud 36 2

(©  AwdTE 2 I R w8 2

[Question ID = 3329][Question Description = Q90_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12779]
2. 2

[Option ID = 12780]
3.3

[Option ID = 12781]
4, 4

[Option ID = 12782]

76) Who sought to discover the patterns and forms of the ritual of *earlyman’ from underlying literature?
(1) James Frazer (2) E.B. Tylor

(3) Theodor Benfry (4) Kaarle Krohn

uw wifeed @ ‘snfenea’ (earlyman) % SSSHT % IR /AHAT S w91 1 wdl e e ?
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(1) - % (2) =& TEEr
(8) forigi shi (4)  FE HE

[Question ID = 3330][Question Description = Q16_FolkLit_ SHAAN_NOV21]
1.1

[Option ID = 12783]
2. 2

[Option ID = 12784]
3.3

[Option ID = 12785]
4, 4
[Option ID = 12786]
77) Dorson’s concept of ‘fakelore’ portrayed the following stories as not based on oral tradition but as literary fabrications:

(1) Paul Bunyan Stories  (2) Cinderella stories

(3) John Bunyan stories (4) Aesop’s Fables

‘BTl * WX # S H swmuren 2 R et Seraand Sifgs WO R IndTiE [T 5 e

T T WO T ST B -
(1)  ufer sfm = s 2 fagen i et
(3) < A=A Hi T (4 o & A

[Question ID = 3331][Question Description = Q33_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12787]
2. 2 [Option ID = 12788]
3. 3 [Option ID = 12789]
4, 4 [Option ID = 12790]

78) Rich details of cultural scenes constructed as a method of writing culture is known as :
(1) Thick Description (2) Travelogues

(3) Field notes (4) Thin description

5 vag wiesls wifet w1 sae aerfa-owa 8 vgfa % 9w G o 8, 38 wad 27

(1) 7z = (2) AT /AT
(3 ¥ s @ g

[Question ID = 3332][Question Description = Q38_FolkLit_SHAAN_NOV21]
. 1 [Option ID = 12791]
2 [Option ID = 12792]
3 [Option ID = 12793]
. 4 [Option ID = 12794]

oW R

79) Each and every item in the target groups in any given pilot study has an equal chance and probability of inclusion in
the sample. Such sample is Known as:

(1) Deliberate sampling (2) Systematic sampling

(3) Stratified sampling  (4) Random sampling

7 T 7 wfera wwl = el fot g Avieefl storm A v < e ik sgedl & di g 21 om

Fl TN Fad B 7
(1) IRE T 98 Q) g T
(8)  THiG® TE-wE (4) et TT-EE

[Question ID = 3333][Question Description = Q40_FolkLit_ SHAAN_NOV21]
| 1. 1 [Option ID = 12795]



www.prepp.in

| 2. 2 [Option ID = 12796]
3. 3 [Option ID = 12797]
4. 4 [Option ID = 12798]

80) Richard Bauman’s ‘aesthetic of performance’ rests on the concepts such as :
(A) Mimesis

(B) Reflexivity

(C) Metacommunication

(D) Metaphysical presence

Choose the correct answer from the options given below:

(1) (B} and (C) only  (2) (B) and (A) only

(3) (A) and (D) only (4) (C) and (D} only

s oAy i ‘YT T ¥igd T SAURONST W SaE 2 -
(&)  IFFFE

(B) ldtsraremsmar

(C) A=y

(D)  3meiciss Iufeald

+r fou U fomrem O W T SUgFa TR B TEA I ;

(1) == (B) 3R (C)
2 = (B) 3R (A)
(3) == (A) 3R (D)
@ %= (C) 3R (D)

[Question ID = 3334][Question Description = Q47_FolkLit_SHAAN_NOV21]
1.

[Option ID = 12799]
Ll

[Option ID = 12800]
3.3

[Option ID = 12801]
4. 4

[Option ID = 12802]
81) According to Johann Gottfield Herder, ‘Volkskunde’ or ‘Science of the Nation’ on which the cultural identity of a
people is contructed, is based on :
(A) Ethnic plays and popular dramas
(B) Household tales and proverbs

(C) Popular songs and ethnic values

(D) Fables and legends

Choose the most appropriate answer from the options given below:
(1) (A) and (B) only

(2) (B) and (C) only

(3) (B) and (D) only
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(4) (C) and (D) only

SiEF Tehles T & ATER AEHS AT U B A " w A B wepian e s g,
st 2

(A) e e 3l sgatia g

B i FetE R FEEd

©)  wgmi fid it S e

(D) ikfvrs ward site sEgfe

== fou o fompel § W oW SUEFd TR B TE FI
1y Fe Q)i B)
2) e (B) T (C)
(3) T (B) 3 (D)
4  Fa (C) s (D)

[Question ID = 3335][Question Description = Q52_FolkLit_SHAAN_NOV21]
s U5 |

[Option ID = 12803]
2. 2

[Option ID = 12804)]
2

[Option ID = 12805]
4. 4

[Option ID = 12806]
82) According to Dundes, the advantage of the structural units of motifeme and allomotifs was that, they represent :
(A) Elements of motifs
(B} Elements of a story
(C) Story telling
(D) Narrator’s telling
Choose the most appropriate answer from the options given below:
(1) (B} and (C) only (2) (B) and (D) only

(3) (A) and (D) only (4) (C) and (D) only

3fesw % ER AR sl TAHileEa % FreATeRE TS % @ 97 3 7 o e e R
(A) HEd ST % g

B) wEH ® T

(C) =P ==

D)  aviEHdl i FGrEE

+ fou U farmeal 6 © HeE SUgad SR 9 ST IO ;

(1) 3 (B) 37K (C)
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(Z2) =l (B) A (V)
(3) F=EA (A) ¥R (D)
@ A (C) ¥R (D)

[Question ID = 3336][Question Description = Q54_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12807]
2. 2

[Option ID = 12808]
3id

[Option ID = 12809]
4, 4

[Option ID = 12810]

83) According to Jean Baudrillard, consumerism is linked to the shopping mall where consumers are seduced and stupefied
by the display and diversity due to :

(A) Autonomy of the signifier
(B) Hyperreality
(C) Autonomy of the sign
(D) Hyporeality
Choose the most appropriate answer from the options given below:
(1) (A) and (B) only (2) (C) and (D) only
(3) (D) and (B) only  {4) {A) and (C) only
H SHSEeTE % SER, W WIS Wl STURT WeRH TR fEdd % g 9Ew 9 SafF S S @

(A) THaH T @
(B)  Afqamdtemnal

(C) w%a (fama) = =

(D)  AdEraiaEal

= fau o el O W Ted SUg TR W 99 N

(1)  Fae (4) 3 B)
(2 = (O) it (D)
(3)  =eel (D) 3 (B)
@) e Q) 3 (C)

[Question ID = 3337][Question Description = Q62_FolkLit_SHAAN_NOV21]
. 1 [Option ID = 12811]
2 [Option ID = 12812]
. 3 [Option ID = 12813]
. 4 [Opticn ID = 12814]

oW o

84) The dialogues, costumes, ornaments, entry and foot movements are unique for the following theatre forms in India :
(A) Bhaona Ankiya Naat

(B) Chauvittu - Natakam
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(€) Tamasha

(D} Jatra

(E) Cindu Yakshaganam

Choose the most appropriate answer from the options given below:
(1) {A), (B) and (C) only (2} (B), (C) and (D) only

(3) (C), (D) and (E) only (4} (A), (B) and (E) only

frfafaa Tres S (FR) W 9 o @ HaE, Y9I, STV, W99 oF 18 qaeE | fafire € -

(A)  WTEFT 3 T2

(B) BEfacg - AZHA
(C) A
(D) =mEn

() &Y =aemmm,

e fou 7T avpedl o @ HEW ST IO T IO

()  Fa (4), (B) 3 (C)
2 == (B). (C) 3R (D)
(3 & (O) (D) 3k (B)
(4  Had (A). (B) 3 (E)

[Question ID = 3338][Question Description = Q63_FolkLit_SHAAN_NOV21]
1. 1 [Option ID = 12815]
2. 2 [Option ID = 12816]
3, 3 [Option ID = 12817]
4. 4 [Option ID = 12818)

85) Scholars who influenced the development of application of ethnography through a focus on social and cultural
characteristics of existing primitive societies are :

(A) Franz Boas

(B) Andrew Lang

(C) Branislaw Malinowski

(D) Radcliffe Brown

(E) Milton Singer

Choose the most appropriate answer from the options given below:
(1) (A), (B) and (C) only (2) (A), (C) and (D) only

(3) (C), (D} and (E) only  {4) (A), (B) and (E) only

fererm snfeety aoEe & amtss it wples fafirearst w om #fa = Fenfa aum = swm
Tam =1 - Tt A varfaa e e

(A)  FFH A8

®) wggam

(e o rary g T e
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(E) Toerea iR

it feu o Teedl 0 O ey Sugdd SOt R =EE hif

(1) F94 (4), B) ¥R (O)
@ = A), (©) 3R (D)
(3) w4 (©), @) R (B)
@) % (A), (B) 3 ()

[Question ID = 3339][Question Description = Q64_FolkLit_SHAAN_NOV21]

. 1 [Optien ID = 12819]
2 [Option ID = 12820]
3 [Option ID = 12821]
. 4 [Option ID = 12822]

oW =

86) Match List | with List 1l :
List |
Definition of Folklore
(A} As the learning of the People
(B} As living fossils
(C) As amirror of culture

{D) As historical science

List Il
Propounders
() Alexander H. Krappe
{Il) Sophia Burne
(I} Fransis Potter

{I¥) Alan Dundes

Choose the correct answer from the options given below:

(1) (A)- (), (B) - (), (€) - (IV), (D) - (1)

@

(A) - (), (B) - (1), (C) - @, (D) -

(3)  W-(v), (B) - (), (€) - (), (@) - ()
(4)  M-0n, (B - W, (€ - @dv), @) - ()

o=t I % @ gt 11 1 e whifse
Hj:ﬁl H;TﬁII
(etrrarat = gftarr)
(A) T o e T @ CoFEE T wN
(B) fifaa Sfemes & =9 1 ) =iEn 3
(C) AR AEHRTH ST (D) witam T
(D) femifaes famme & dt ® (IV) ©eH 3458
Hr fu 7 e @ 98 S H 99 e
(1H @-3dn @ -3d) ©-3av, O - @
2) A —-@O. B —d) () — {100, D) — dV)
3 @-awv. B -dn ©-dn O - O
4 @-0m @ -30an ©-av, O - O

[Question ID = 3340][Question Description = Q66_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12823]
2. 2

[Option ID = 12824)]
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[Option ID = 12825]

4, 4

[Option ID = 12826]

87) Match List | with List 1l :

List |

Social Media

(0

()

List |l
Function
Business Network site

Social Activist site

(Ill) Mews Aggregators site

(I¥) Gaming site

(D) -
(D) -
(D) -
(D) -

(N
N
(N
N

g 11 (w=ed )
(@ =T e Tige
dD) wive gfFelaee age

(A) Care 2
(B) Mix
(C) Twitch
(D) Viadeo
Choose the correct answer from the options given below:
(1) (A)-ah, (B - V), (€} - (I,
(2)  (A)-(h, (@B - 4, (€) - (IV),
(3) (A)-a), (B) - (¥}, (C) - (),
(4) (A)-0v), (B - (n), (<€) - (I,
et 1% wrr g=h 11 = frem it
gt I (e Hifsan)
By wg
B) T
©) <=
(D) Tt

#i= foe e et @ w1 3w Tmm A

(1)
2)
(3)
)

@A) —-an. @ — @),
@) -, ® - dm,
@) -dp. @ - av).
@) -@a), ® - 1.

(C) — (I,
(©) - @V,
(€) — (D,
(©) — {ab.

() o TICERE TEe
(IV) T wrge
D) — @

@) - M

D) — @D

D) - @

[Question ID = 3341][Question Description = Q72_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12827]
5.2

[Option ID = 12828]
3.3

[Option ID = 12829]
4. 4

[Option ID = 12830]

88) Arrange the scholars who worked on mythology from West to East based on their country of origin :

(A) Joseph Campbell

(B) Georges Dumezil

(C) Otto Rank

(D) Walter Burkert

Choose the correct answer from the options given below:

eh

(A), (B), (C), (D)
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@) (A), (D), (B), (C)
(3)  (B), (A), (D), (C)
(4) (D), (), (A), (B)

= gl w1 fSmen faersl | wm Fe £ 5% 39 S % T YR W IiT9A @ 9 % %Y 4 e

Hif

(A) HF FuS
®) - SR
(C) I iw

D) v geRe

A fau U faerenl ¥ O TEl I T SEA R

BH @B O.0O
@ @W.O.6.0
@ ®),A). D). O
@ DO.O. A .05

[Question ID = 3342][Question Description = Q77_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12831]
2.2

[Option ID = 12832]
3.3

[Option ID = 12833]
4. 4

[Option ID = 12834]
89) Arrange in sequence the forms of folklore as per Stith Thompson’s analysis ;
(A) Marchen
(B) Hero Tale
(C) Legend
(D} Novella
(E) Humorous Anecdotes

Choose the correct answer from the options given below:
(1) (A), (B), (C), (D), (E)

(2) (A), (D), (B}, (C), (E)

(3) (A), (€}, (D), (B), (E)

(4)  (C), (E), (A), (B), (D)

e uTTem & FITeivoT % U 9T Shanal i LRI i e U Aty i

(&) T
B) e
(C) Es
(D) A

Fia =IOt e T
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F9 fn o e O § TE S w9 S

1 @ ®,©). D), E)
2 @, D), ®B.©.E)
3 (A ©). D). B, E)
@ (O, E), A, ®B). DO

[Question ID = 3343][Question Description = Q78_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12835]
5.2

[Option ID = 12836]
3 3

[Option ID = 12837]
4. 4

[Option ID = 12838)]
90) Sequence the scholars who are connected with the super-organic theory :
(A) Axel Olrik
(B) Franz Boas
(C) Alfred Kroeber
(D} Herbert Spencer

Choose the correct answer from the options given below:
(1) (D), (A), (B), (C)
(2) (A), (B), (C), (D)
(3) (C), (D}, (B), (A)
(4)  (B), (C), (D), (A)

TR IO fgra o Taita’ g = 30 9g HieT
(A) TS NERE
B) ¥ W

(C) Telhs WigeR

D) T W
= feu mu fameyl 1 9 ©gt 3% =1 == hifau

@ D) A B O
@ A&, ®B.O.D
@ (©) D.B. A
@ B ©).D).&W

[Question ID = 3344][Question Description = Q79_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12839]
2, 2

[Option ID = 12840]
e
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[Option ID = 12841]
4, 4

[Option ID = 12842]

Topic:- 71Folk_B

1) Read the given passage and answer the questions that follow:

One of the most important differences in emphasis between the syntagmatic and paradigmatic brands of structural analysis
has been the concern or lack of concern with context, Propp’s syntagmatic approach has unfortunately dealt with the
structure of text alone, just as literary folklorists generally have considered the text in isolation from its social and cultural
context. In this sense, pure formalistic structural analysis is probably every bit as sterile as motif-hunting and word-counting.
In contrast, Levi-Strauss has bravely attempted to relate the paradigm(s} he “finds” in myth to the world at large, that is,
to other aspects of culture such as cosmology and world view. It is in this light that Lévi-Strauss’ approach has helped lead
to the new notion of myth (and other forms of folklore) as models. (Note that Malinowski’s basically diachronic conception of
myth as charter [set back in primeval time] has had to be updated to include a more synchronic conception of myth as
model. The intellectual shift from “myth as charter” to “myth as model” is surely one significant consegquence of synchronic
structural analysis.) However, the emphasis upon context is rather one of application of the results of structural analysis
than one inherent in the paradigmatic approach. The problem is that Propp made no attempt to relate his extraordinary
morphology to Russian (or Indo-European} culture as a whole,

Freferfs e %t ot sie wew |, 91 = 95 7w % T A

TR Ty % e 3 TEe v 91 & wer 9 fqu s o vaifaes gewget fave o
¥ wF ufTiEn = WY TEY A Ge9 F AWM W 2| W % B e s # guiEaw Fad wie A
T 6t 18 2 diep et wn S oo wurRl W AiREEn TS S T 3T HieHoE e O YE 0El
21 38 o1 A TRIg STV=ehal W BTN et @¥Ed: o 3o B R @ S e saem s
3R wreg T f3weh faadia, ot T A w9 e () S Odives suell ¥ Ioutid B §ER ° seied 58 21 SR
TEH F T TR A FRASEANE IR ATaE F F WY Sie F wErs v e 2 i o ¥ ol
T % 3 ¥ Y % A 3w (SR FEmen F o ) # Fied % w9 gTar o § weEan el 2
(SeeimHts 2 o Afcriehi i gom: fays £ fgfas e o1& % 59 4 (e w3 Guifa) 1 e
sl 3 31femn guererd FGUn W e % 'y o wiftel B % fie stegdad aqEn SEn a1 Sl % w9 A
a9 fenl % w9 A fiuw & w9 A sifgr e Frvea @ geemfas stemcns faveue w1 ue Aacagu
viawe 21 aunfy, afges o s R s sraedt g surm A siafafza sEmEm A s e fRves $
TS T SR A W UH 3| TEEN A2 2 TR WY A I EERe &9 foE W o w9 4 w6l (e wa-
T ) FEH © Fag B F D3 T T2 6

The major difference between syntagmatic and paradigmatic structural analysis is

(1N Presence or absence of textual analysis
(2) Presence or absence of context sensibility
(3) Presence or absence of structural analysis
(4) Presence or absence of textual similarity

fammosrTeT il e s T faverr o e o 2

(1) 9w feemor =1 56 A% T S
(2)  URHEA SUCHSRAl ST SAUE1 TEl a8
(3)  EEAICHS fIgeiyu = BFT A1 SHH HAWE
(4) W WHTAG F FA AGAT TG 2

[Question ID = 3345][Question Description = Q91_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12843]
2,2

[Option ID = 12844]
3.3

[Option ID = 12845]
4. 4

[Option ID = 12846]
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2) Read the given passage and answer the question that follow:

One of the most important differences in emphasis between the syntagmatic and paradigmatic brands of structural analysis
has been the concern or lack of concern with context. Propp’s syntagmatic approach has unfortunately dealt with the
structure of text alone, just as literary folklorists generally have considered the text in isolation from its social and cultural
context. In this sense, pure formalistic structural analysis is probably every bit as sterile as motif-hunting and word-counting.
In contrast, Levi-Strauss has bravely attempted to relate the paradigm(s) he “finds” in myth to the world at large, that is,
to other aspects of culture such as cosmology and world view. It is in this light that Lévi-Strauss’ approach has helped lead
to the new notion of myth (and other forms of folklore) as models. (Note that Malinowski’s basically diachronic conception of
myth as charter [set back in primeval time] has had to be updated to include a more synchronic conception of myth as
model. The intellectual shift from “myth as charter” to “myth as model” is surely one significant conseguence of synchronic
structural analysis.) However, the emphasis upon context is rather one of application of the results of structural analysis
than one inherent in the paradigmatic approach. The problem is that Propp made no attempt to relate his extraordinary
morphology to Russian (or Indo-European} culture as a whole,

Freaferfan e %t ot i wew E. 91 = 95 7w F T A

LA Taveor & faerasArens 3t TuTEe fawss 2is & ner IR fiu o F valfas vawgl fase o
¥ o ufiET | WY TEY e §9Y H A9 w1 2| W9 % e e surm § guitEm daw we # A
T 6t 18 2 dip =t wn S ot wurRl W AR OIS S I SR HieHoE e U 9UE 0El
21 38 o1 A TRIg ST=ihal Wb GRS et @vEd: oI 3o B R @ fen e saem s
3R ez T f3weh fadia, ot T A w9 e () S dives wuell ¥ Iaufid B §ER O seied 58 21 SR
TEHTd F =1 TEgGH! AN TEATSEAT AR AT 3 = W SIS B wE T e 2 gE arels o wel
T % 397 ¥ Y % A 3w (SR FEmen F o ) ® Fied % w9 gTar o4 § weEan el 2
(Seoeim 3 T Afcmieh i gea: e 6 fgwifoss seumon =i ol & w9 14 (10 e 3 Fuifa) = fbue
Wl 3 e guErier FGUr @ e % vy o wifer B % faie stegdd aqeEn S a1) el % w9 o
fagw U few k¥ W WuE % w9 ¥ difgw saw Fuem & gaewmfoes Stenens favem v agcg
vfawa 21 aunfy, aftien @ s fear s saaedt e surm 7 siafafEa oamEm i sey g el %
TS % AT A W UH 3| T A2 2 TR MY A A Eane &9 fom W o w9 4 w6l (3t™en wia-
T ) FEH § Fag B F DI T T2 6

Propp’s structuralism is formalistic in its approach as it is relating to

(A) World View

(B} Motif Hunting

(C) Word Counting

(D) Arche type

Choose the correct answer from the options given below:
(1) (A) and (B) only

(2) (A) and (C) only

(3) (B) and (C) only

(4) (C) and (D) only

W g ST BTSRRI SN o @ S A TEid @
(&)  ifEs giesm g

(B) SIS T a1 ST

(C) ISl
(D)  IAEIAYEY
= fou e fompeat F @ wd s AT

1) = (A) I B
@  FEE Q) 3 (C)
(3) FEa (B) 3T (C)
@ %= (C) 3k (D)

[Question ID = 3346][Question Description = Q92_FolkLit_SHAAN_NOV21]
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[Option ID = 12847]
1)

[Option ID = 12848]
3. 3

[Option ID = 12849]
4, 4

[Option ID = 12850]

3) Read the given passage and answer the question that follow:

One of the most important differences in emphasis between the syntagmatic and paradigmatic brands of structural analysis
has been the concern or lack of concern with context. Propp’s syntagmatic approach has unfortunately dealt with the
structure of text alone, just as literary folklorists generally have considered the text in isolation from its social and cultural
context, In this sense, pure formalistic structural analysis is probably every bit as sterile as motif-hunting and word-counting,
In contrast, Levi-Strauss has bravely attempted to relate the paradigm(s) he “finds” in myth to the world at large, that is,
to other aspects of culture such as cosmology and world view, It is in this light that Lévi-Strauss’ approach has helped lead
to the new notion of myth (and other forms of folklore) as models. (Note that Malinowski’s basically diachronic conception of
myth as charter [set back in primeval time] has had to be updated to include a more synchronic conception of myth as
model, The intellectual shift from “myth as charter” to “myth as model” is surely one significant consequence of synchronic
structural analysis.) However, the emphasis upon context is rather one of application of the results of structural analysis
than one inherent in the paradigmatic approach. The problem is that Propp made no attempt to relate his extraordinary
morphology to Russian (or Indo-European) culture as a whole.

ettt e %t ot i wew |, 91 = 95 7w F T A

T aveu & faeasarers At TuEet favas §is & uer 9 faw o= o watfas gewyet faser o
¥ o uitiEd F WY ay STUEl S99 W A9E W@ 2| W9 S R ST Sure § guRTem e Wie i Al
T 6t 18 2 dip st weR S oo ARl W AR UTS S I SR HiEHaE We § YE 0El
21 30 o1 A TRIg STV=ehal W GRS [eeriv @Ed: o Sa A R @ S e saem s
31 w2 O /359 faalia, ot T A w9 i (#) S 9l et U soufia B §UR ° veied 5 8l 5%
TP F T TEgeAl AU FEHUSTE IR dfTaw A F Wy WS4 B was v R 2| g s o i
T % 3 ¥ Y % A 3w (S dEmen F o ) ® Fed % &9 8 giar o 8 weEan fiel 2
(3eoeia 2 T Afcmieh i gea: fees 6 fgwifos seamon i et & w9 14 (e e 3 Fuifa) = fFus
sl I Al gl SFaan @ g % w9 wife s o iy s1eadd aqmEn SEn 91 9l % 9 o
fruss ) fenl % w9 A fiuw & w0 A difgw s Fvea @ geemfas stemcns favene @ us Agcagu
vlawa 21 aunfy, aftien @ s far s saaedt e surm A ciafafEa oamEm i aery g e %
TS % ST A W U 3| AN A 2 TR WY A AT EER &9 fOE W o 9 4 w6l (1™en wRa-
TITH) TPl W Helg B 1 Hig TH T2 6]

Match List | with List Il :
List | List Il
Scholars Concepts
(A) Malinowski ()  Myths as models

B Levisstravss (I) Intellectual shift in mythic

studies
(C) Synchronic structuralists (1} Syntagmatic approach
(D) Valdimir Propp (I¥) Myth as charter

Choose the correct answer from the options given below:

(A) - (1), (B) - (), () - (), (D) -
(V)

(2) (BA)-m, (B) - @, (€) - av), (D) - )

(A) -y, (B) - (D, (€) - (n, (D) -
(V)

(A) - (IV), (B) - (), (€) - (I, (D) -
(1)

(1)

(3)

(4)
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Tt 1% @y gl 1T =1 e it

Tt I (fogm) e IT (steremom)
(a) Aferiseh (D gl % =9 3 faors
(B) ol wim (I) wRIforER s1eA  sifgs ufEds
(C) Tl TLTATER (II) To=ra fFens 3arm
(D) =eNEdR Uiy (IV) =MeT = =9 § T
i v 7o frmeeT T 9 SO W 99 i

@ @-O0O. ®-ad. (© - dh. © - av)
@ @A-3ad. @& - dn, © - av, O -d

& @-dn & -O. © -adp O - avm
@9 @-aV). ®B -0 © -4 O - d

[Question ID = 3347][Question Description = Q93_FolkLit_SHAAN_NOV21]
1.1

[Option ID = 12851]
2. 2

[Option ID = 12852]
3.3

[Option ID = 12853]
4, 4

[Option ID = 12854]

4) Read the given passage and answer the question that follow:

One of the most important differences in emphasis between the syntagmatic and paradigmatic brands of structural analysis
has been the concern or lack of concern with context, Propp’s syntagmatic approach has unfortunately dealt with the
structure of text alone, just as literary folklorists generally have considered the text in isolation from its social and cultural
context. In this sense, pure formalistic structural analysis is probably every bit as sterile as motif-hunting and word-counting.
In contrast, Levi-Strauss has bravely attempted to relate the paradigm(s} he “finds” in myth to the world at large, that is,
to other aspects of culture such as cosmology and world view. It is in this light that Lévi-Strauss’ approach has helped lead
to the new notion of myth (and other forms of folklore) as models. (Note that Malinowski’s basically diachronic conception of
myth as charter [set back in primeval time] has had to be updated to include a more synchronic conception of myth as
model. The intellectual shift from “myth as charter” te “myth as model” is surely one significant consegquence of synchronic
structural analysis.) However, the emphasis upon context is rather one of application of the results of structural analysis
than one inherent in the paradigmatic approach. The problem is that Propp made no attempt to relate his extraordinary
morphology to Russian (or Indo-European} culture as a whole,

Freferfan oo =t ot sie mow . 91 & 95 7w % T At

TEATAS (a7eine & faeraseiers R syradd faeas s & 7er 9k i 99 o gaffies gewget feig 4
¥ wF uftiEd F Y TEY STUEl UeY W T9E W@ 2| WY 3 e e U § guREem e Wie Al
T =t 18 2 dip i wew S i it wurERl W HIREen TS R I SR HiEHaE W O 9E WEl
21 38 o1 A TRIg STV=ehal Wb BRI et @vEd: o Sa A R @ S e saem s
3R g T f3wh fadia, ot T A w9 e () S dites suell ¥ Ioufid B JER § seied 58 81 5%
TEPHTd F 31 TegH A TEATSET R AT 3 = WSS B was T e 3 gE arels o ol
T % 3 ¥ Y % A 3w (SR FEme F o ) ® Fed % &9 8§ gTar o § werEan el 2
(SeerHi 2 o Afcriehi Hi gom: fays £ fgwfas seumon # o1 % 59 4 (g0 w3 Buifa) b
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TS o SEIERT A W UH 3| TEEN A2 2 TR WY A I EURe &9 fOE W o w9 4 w6l (31™en wRa-
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Sequence the ideas as per appearance in the passage

(A) Synchronic analysis
(B) Text in isolation

(C) Morphology

(D) Cosmology

Choose the correct answer from the options given below:
(1) (B), (D), (A}, (C)
(2) (B), (B), (C), (A)
(3) (A), (B), (D}, (C)
(4) (C}, (A), (B), (D)

T H Ieeidd ettt el S IeuihT 9 % B A geadree it
(A)  THFIo favegu

(B) UF T H B

(C) wfammA
(D) wEAETH

b

I3 i T et § @ w81 SO w1 99 it

@O @®. D) A O
@ B.D).©C).A
(3 (A).®. D). )
@ (0. A.B®). D

[Question ID = 3348][Question Description = Q94_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12855]
2. 2

[Option ID = 12856]
3.3

[Option ID = 12857]
4. 4

[Option ID = 12858]

5) Read the given passage and answer the question that follow:

One of the most important differences in emphasis between the syntagmatic and paradigmatic brands of structural analysis
has been the concern or lack of concern with context. Propp’s syntagmatic approach has unfortunately dealt with the
structure of text alone, just as literary folklorists generally have considered the text in isolation from its social and cultural
context. In this sense, pure formalistic structural analysis is probably every bit as sterile as motif-hunting and word-counting.
In contrast, Levi-Strauss has bravely attempted to relate the paradigm(s} he “finds” in myth to the world at large, that is,
to other aspects of culture such as cosmology and world view. It is in this light that Lévi-Strauss’ approach has helped lead
to the new notion of myth {(and other forms of folklore) as models. (Note that Malinowski’s basically diachronic conception of
myth as charter [set back in primeval time] has had to be updated to include a more synchronic conception of myth as
model. The intellectual shift from “myth as charter” to “myth as model” is surely one significant consegquence of synchronic
structural analysis.) However, the emphasis upon context is rather one of application of the results of structural analysis
than one inherent in the paradigmatic approach. The problem is that Propp made no attempt to relate his extraordinary
morphology to Russian (or Indo-European) culture as a whole.

ettt e %t ot i wew |, 91 = 95 7w F T A
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TR Ty % e 3t T favgs 918 & wer 9 fqu s o vaifaes gewget e o
¥ wF ufTiEn = WY TaY A Ge9 F AWM W 2| W9 % R e s § guiEaw Fad wie A
T 6t 18 2 diep et wew S s wureRl W AIREen OIS S I 3R HIEHaE W U YE WEl
21 38 o1 A TRIg ST=ehal W BIEHHE feerav @¥Ed: o 3o B R @ fren e saem s
31 w2 O /35 faalia, ot W A w9 e (#) S i et U Igufia B SuR | Yeied 5 Al 5%
TP F 3 TSl A FEAWSATE IR dfTaw @A F Wy s B wam A R 2| g arels o o
T % 397 ¥ Y % A 3w (SR FEmen F o ) ® Fied % w9 giar o § weEa el 2
(SeeimHia 2 o Afcriehi i gom: fays £ fgfas dmumom o1 & 59 4 (g0 w3 Buifa) 5 e
sl 3 3femn guerierd Fgunn @ e % w5y o wifter e % fals stead aqEn S a1 el % w9 o
o o figl & w9 A T % w9 ° sifgw simw Frem & goemfas Samtors favew o Agcag
yiawe 21 aunfy, aftes ot s e s suraedt e surm A siafafza sEmEm i s e Rves $
TS T ST A W UH 3| TEEN A2 2 TR WY A I EERe &9 foE W o w9 4 w6l (t™en wia-
TIIH) Topld W Helg BE 1 His TH T2 61

Given below are two statements. One is labeled as an Assertion A and the other is labeled as Reason R

Assertion A : Malinowski’s conception of myth as charter is based on diachronic approach.
Reason R ; ‘Myth as a model’ is a synchronic approach.

In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) A is correct but R is not correct

(4) A is not correct but R is correct

Hie g fou e §| uss safiere (Assertion A) % wu # faflag ® @t 35w 3wk #mm (Reason R) &
wAH

wfirpm A ;. AREehl 1 = % v A by i smamon fgEfers ST w snenfa 2

FOTR : ‘Frad % =9 7 Mys guserh SUTTH 2

s

U I F ATeNF °, A9 T T et § § wE I W 99 i)

(1) A RRIA wE 2 3R R, A 7 = 2
(2) AR IA a2 A R, A 6 ot =men 798 )
(3) A@d g Rud T R
4) AT TE 2 At R w2
[Question ID = 3349][Question Description = Q95_FolkLit_SHAAN_NOV21]

1.1

[Option ID = 12859]
2. 2

[Option ID = 12860]
3.3

[Option ID = 12861]
4, 4

[Option ID = 12862]

Topic:- 71Folk_C

1) Read the given passage and answer the question that follow.

Russian structuralist studies fall into three major categories: linguistics, poetics and the typology of cultures, These
categories overlap; one can even argue that the last one includes the other two. The division, however, seems useful for
practical purposes,

Structuralism in linguistics began to develop vigorously after 1955, when computer translations were first tried in Russia.
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diverse professional backgrounds, from philosophy to anthropology and music), Works in linguistics are not of great interest
to the general reader; they rely heavily on mathematics and require familiarity with a highly specialized terminclogy. Some

of the language modelling that the linguists do, however, borders on the semiotics of culture. Examples of this are

mentioned below,

Poetics is a significant part of Russian structuralism. It has formalist inspiration (although the complexity and sophistication of
some present-day formulations make certain formalist statements sound rather crude) and, like linguistics, it occasionally
relies on mathematics (e.g., Kolmogorov’s studies of contemporary free verse and of the rhythmic structures favored by

certain poets and epochs).’ Poetics has also offered a redefinition of such basic terms as “the literary work” and “the

literary device.” In the interpretation of Russian theorists, the literary work is not limited to the written text: it comprises

the connections of this text with the world outside. In particular, it includes the “negative elements of structure,” i.e.,

those elements which signify by means of their conspicuous absence.

frterfem o o wfgw oitt = 96-100 ot s i ;-

FH TEAMERE TSP H AH 9E A0 3T o O, e TR GEsi i aew famm | v
o T 21 S AT A TR smast B ; 78 i 99 o S wa @ TR ot wife 9 ot 9 wiftfe 31 =i, 9w
fTsm =aTaEE YA § STEr Ydia B 2

91 e O GEEEag 1955 % 918 99 O {9 gF o o9 e w9 ° g Fl gEEd § IHIE
wr Trofed = ®1 wre fen e snfeern = goig v wmiReg € seis afved 39 o ot 3 O
srtermmm =t oui, e ok wifa s ey sroreater geyf @ 3 o fem i wegla & o wen #
arferm sttt T 2t 3; 3 T W wga ol aE WA 2 AR 3 orfd R weareel 9 W § S W
ST T SATEFAT 2| B 9 JentER g R S aren 9 fes Fie SR T Wi % "iere Bl 3
5o Seme i Seo@ e 2 - T w6 GEEETE 1 U Aecayel 9T 2| 3EH sfvenieh TeT =i T
af=fea 3 (7 F=2 snyfe Tha ufaues 6 Som ot guemm % wrw Siom siivarierat Fa9 sftms
safpd 7 wrdt 21 & g foge it € wife, soR g wer wive gt st e Ser 2 (Semond FieRmRie
TEIfAE g9 Y SR auA Al S T R I weg Ol o ATEE) | wEwrE § fl 3 9% $
Hiferr ug Fwr- CwfEfers we st Cofifces gffd’ @ gadfonfya fen o 21 = fugaen % = A
e = faftga s @ Tifea 941 2 300 30 W3 W GERTE % 91 GeY W) sicared 2) fawe w9 A,
"I % RUTCT ST 19T TR ded W ST TS ST % WISTH W Tehaey Tl 3 ) @it 2

Structuralism in Linguistics began with which of the following in Russia?

(1) Mathematical Formulations (2) Specialized Terminology

(3) Computer Translations (4) Poetic Devices

1.

w4 T a1 g | weEe ey Freatataa 9 § e gen ?

(1) iR gEemio ) TerdiFa veae (wreamEed)
(3) HF TEd AR (4) =EATCEE gEa

[Question ID = 3350][Question Description = Q96_FolkLit_SHAAN_NOV21]
1

[Option ID = 12863]

2. 2

[Option ID = 12864)]

£

[Option ID = 12865]

4. 4

[Option ID = 12866]

2) Read the given passage and answer the question that follow.
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Russian structuralist studies fall into three major categories: linguistics, poetics and the typology of cultures. These
categories overlap; one can even argue that the last one includes the other two, The division, however, seems useful for
practical purposes.

Structuralism in linguistics began to develop vigorously after 1955, when computer translations were first tried in Russia.
The majority of Russian structuralists are linguists by training (in contrast to Western structuralists, many of whom have
diverse professional backgrounds, from philosophy to anthropology and music). Works in linguistics are not of great interest
to the general reader; they rely heavily on mathematics and require familiarity with a highly specialized terminology. Some
of the language modelling that the linguists do, however, borders on the semiotics of culture, Examples of this are
mentioned below.

Poetics is a significant part of Russian structuralism. It has formalist inspiration (although the complexity and sophistication of
some present-day formulations make certain formalist statements sound rather crude) and, like linguistics, it occasionally
relies on mathematics {e.g., Kolmogorov’'s studies of contemporary free verse and of the rhythmic structures favored by
certain poets and epochs).’ Poetics has also offered a redefinition of such basic terms as “the literary work™ and “the
literary device.” In the interpretation of Russian theorists, the literary work is not limited to the written text: it comprises
the connections of this text with the world outside. In particular, it includes the “negative elements of structure,” i.e.,
those elements which signify by means of their conspicuous absence,

Fratorfem o o ufgw offt o= 96-100 ot s i -

Tl TG S W O qEE AR ST W e, e S St i e famm § e
o T 21 S AT S W eest §; 78 i 99 T W e @ TR oifm wife 9 ot 9 wiftfea 31 i, 9w
TS/ SATaETieh TS § STER Tdtd e 2

191 foF O GEEag 1955 % 91g 99 O T gF o i TaNeE w9 ° gt il 3EEd § IHaE
A FroniEd =0 = e B e onftieew = gt yiige woiie 2 st afvad o awmtae d -
ey A T, TR iR e 3 iR sreraRe gy A 31 s Rew A wgh § @ T A
nfers wiftreta T St ;3 v W aga aife i W 2 AR 3T eifa R et 9 v @ s W
ST T AT 2| B 9T JIER g R S aren aren fest Fmie SeRiers T Hi % Wiere B B
foeh o A oo FEad 3 FEEEE FE GG F U Teeaqel 9T 2| TE ST Ty i T
af=fea 2 (7 F=2 snyfe Tha ufaues 6 sem ot guemm % wrw Siom siiverieramyt #a9 st
safpd 7 wrdt 21 & g fomm <t & wife, soE A wer vive ot s e e & (Semond HeRiRie
TEIfAE ga g SR AU A IR T R IR TEeg O o ASEE) | wEawrE § fl 3 9% %
Hiferr ug aur- ‘aifafees W ol Caifelees gfFa = gdfoniya B T 21 st fugaeni % e A
aifzfeis = faftga s @ Tifea 941 2 309 30 W3 W AERTE % 91 GeY W) sifcared 2) faew w9 A, @
T % RUTCA ST 1T UH ded W ST TS ST % WISTH W Tehaeiy Tt 3 ) Wit B

Russian structuralists works in linguistics rely much on

(A) Mathematics

(B) Philosophy

(C) Terminology

(D) Poetics

Choose the correct answer from the options given below:
(1) (A) and (C) only

(2) (A) and (D) only

(3) (B) and (C) only
(4) (C) and (D) only

T | wH Teeaer i 0 Fetaiege 9 9 Bl B w it ananta 2)
A) T
® A

(€) e

® T
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[Question ID = 3351][Question Description = Q97_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12867]
2.2

[Option ID = 12868]
3.3

[Option ID = 12869]
4. 4

[Option ID = 12870]

3) Read the given passage and answer the question that follow,

Russian structuralist studies fall into three major categories: linguistics, poetics and the typology of cultures, These
categories overlap; one can even argue that the last one includes the other two. The division, however, seems useful for
practical purposes.

Structuralism in linguistics began to develop vigorously after 1955, when computer translations were first tried in Russia.
The majority of Russian structuralists are linguists by training (in contrast to Western structuralists, many of whom have
diverse professional backgrounds, from philosophy to anthropology and music). Works in linguistics are not of great interest
to the general reader; they rely heavily on mathematics and require familiarity with a highly specialized terminology. Some
of the language modelling that the linguists do, however, borders on the semiotics of culture. Examples of this are
mentioned below.

Poetics is a significant part of Russian structuralism. It has formalist inspiration (although the complexity and sophistication of
some present-day formulations make certain formalist statements sound rather crude} and, like linguistics, it occasionally
relies on mathematics (e.g., Kolmogorov's studies of contemporary free verse and of the rhythmic structures favored by
certain poets and epochs).’ Poetics has also offered a redefinition of such basic terms as “the literary work” and “the
literary device.” In the interpretation of Russian theorists, the literary work is not limited to the written text: it comprises
the connections of this text with the world outside. In particular, it includes the “negative elements of structure,” i.e.,
those elements which signify by means of their conspicuous absence,

Fraterfn o o ufgw oftt = 96-100 <t 3w i ;-
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TR SR TEeE W SR Tdd B 2
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Match List | with List Il :
List | List Il

Thinkers and Concepts Meanings
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{A) Russian Structuralist studies (1) Semiotics of culture

{B) Russian strcuturalists {II) Negative elements of structure
(C) Language modelling (11} Formalism

(D) Literary work (IV) Typology of cultures

Choose the correct answer from the options given below:

(A) - (1), (B) - (D), (C) - (), (D)

W W
(A) - (), (B) - (I, (€) - (M), (D) -
(2) (V)
(A)- (), (B) - (), (€) - (), (D) -
®
4) (A)-(Iv), (B) - (), (C) - (I}, (D) -
(1)
Tt 1% Ty g 11 % e shifa
Tt 1 (fomo a7R sraymm) g 1T (s1fmma)
(A) TH TEECHF A T =&FM F GhataaH
(B) = wt=ifeag (I) GAT & SKUTeH dcel
(C) s Freer fmm (L) =i ey Fmr
(D) Wi = (V) woEfEt # vey

I fau o fereeTt § o I = == Hifttm

O @G-ad. & -O. (© —Jdh. O - adv)
@ @W-0O. ®-4ad. © -dbh. O - av)
3 @W-d, @ -dn © -@O» O -dv)
@ @}-aow, B -dn © -0O. O - d

[Question ID = 3352][Question Description = Q98_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12871]
2. 2

[Option ID = 12872]
S

[Option ID = 12873]
4. 4

[Option ID = 12874]

4) Read the given passage and answer the guestion that follow.

Russian structuralist studies fall into three major categories: linguistics, poetics and the typology of cultures. These
categories overlap; one can even argue that the last one includes the other two. The division, however, seems useful for
practical purposes.

Structuralism in linguistics began to develop vigorously after 1955, when computer translations were first tried in Russia.
The majority of Russian structuralists are linguists by training (in contrast to Western structuralists, many of whom have
diverse professional backgrounds, from philosophy to anthropology and music). Works in linguistics are not of great interest
to the general reader; they rely heavily on mathematics and require familiarity with a highly specialized terminology. Some
of the language modelling that the linguists do, however, borders on the semiotics of culture, Examples of this are
mentioned below.

Poetics is a significant part of Russian structuralism. It has formalist inspiration (although the complexity and sophistication of
some present-day formulations make certain formalist statements sound rather crude) and, like linguistics, it occasionally
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relies on mathematics (e.g., Kolmogorov's studies of contemporary free verse and of the rhythmic structures favored by
certain poets and epochs).’ Poetics has also offered a redefinition of such basic terms as “the literary work” and “the
literary device.” In the interpretation of Russian theorists, the literary work is not limited to the written text: it comprises
the connections of this text with the world outside. In particular, it includes the “negative elements of structure,” i.e.,
those elements which signify by means of their conspicuous absence,

frterfem o o wfgw oitt = 96-100 ot s i ;-
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Sequence the ideas in the passage :
(A) Formalism

(B) Rhythmic structure

(C) Semiotics of culture

(D} Negative elment and structure

Choose the correct answer from the options given below;
(1) (A), (B), (C), (D)
(2) (C), (A), (B), (D)
(3) (D), (C), (B), (A)
(4) (A), (D), (C), (B)

e % fommd = @g F | smteag fifs
(A) iR

(B) TEEgEE
(C) u&Hla 1 Tha fam

(D)  =HOTcH dcd TR HTEAT
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[Question ID = 3353][Question Description = Q99_FolkLit_SHAAN_NOV21]
11

[Option ID = 12875]
2.2

[Option ID = 12876]
3 3

[Option ID = 12877]
4. 4

[Option ID = 12878)]

5) Read the given passage and answer the question that follow,

Russian structuralist studies fall into three major categories: linguistics, poetics and the typology of cultures, These
categories overlap; one can even argue that the last one includes the other two, The division, however, seems useful for
practical purposes.

Structuralism in linguistics began to develop vigorously after 1955, when computer translations were first tried in Russia.
The majority of Russian structuralists are linguists by training (in contrast to Western structuralists, many of whom have
diverse professional backgrounds, from philosophy to anthropology and music). Works in linguistics are not of great interest
to the general reader; they rely heavily on mathematics and require familiarity with a highly specialized terminology. Some
of the language modelling that the linguists do, however, borders on the semiotics of culture. Examples of this are
mentioned below.

Poetics is a significant part of Russian structuralism. It has formalist inspiration (although the complexity and sophistication of
some present-day formulations make certain formalist statements sound rather crude} and, like linguistics, it occasionally
relies on mathematics (e.g., Kolmogorov's studies of contemporary free verse and of the rhythmic structures favored by
certain poets and epochs).’ Poetics has also offered a redefinition of such basic terms as “the literary work” and “the
literary device.” In the interpretation of Russian theorists, the literary work is not limited to the written text: it comprises
the connections of this text with the world outside. In particular, it includes the “negative elements of structure,” i.e.,
those elements which signify by means of their conspicuous absence,

fratorfem o o ufgw oftt To= 96-100 ot s i -
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Given below are two statements:
Statement | ; Literary work consists of written text.
Statement Il : Negative elements of structure are those which comprise the connections of the text with the world outside.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement | and Statement |l are correct,
(2) Both Statement | and Statement Il are incorrect,
(3) Statement |l is correct but Statement Il is incorrct

(4) Statement | is incorrect but Statement Il is correct
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[Question ID = 3354][Question Description = Q100_FolkLit_SHAAN_NOV21]
1. 1

[Option ID = 12879]
2. 2

[Option ID = 12880]
3.3

[Option ID = 12881]
4, 4

[Option ID = 12882]

Topic:- GP_SetZ_C

1) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit, The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts, People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration, Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linked the people to common traits, There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions, The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela

and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.
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e 9% 9USE § ® vH 3 % wifea =1 @ onyd wieptos oot ¥ w9 d om0 o 21wt o b
<m % for uwa A wiwples fowa Son w0 w@h 2 awa A Al gl go-gd-ofien % e
ieplad AGH-IEE, GHI SE1 1 ST % IRt aeeEl B Ui el o 21 W &9 % et R
Se-ugd v aHnd W andE fauea # gva-waE 21 aig g9 B e ser-fEwan, wgan, = ik
<t < ufa el e v gg favam 3

34 & H1 sl 3 GERa 3 S GEEaTy 3| Taaal 3R St T Aifd SeEte @ gael S 3 ol A
sArp-arizer @ e i 21 9 glmr-ge-ufeen 3 uemr @eptd w0 v afertie 2

HRA TR SHAvI-vd TR % W W -5y MG -TH % SAGRE W, IR THE 2| SFRAE At H
TH g WS THEV-TS 2 e sl oK TR F gg B W 3| AR GWdE Wieha® el
af= # gz ° avighee Fafon Ry S % o @ 9 = 2w % S % sieE-TeE ot eetea
o = T B) SEE - AT ATHESTE % goE <ol % we wiew, M, fagm, gudaw, o, See
S A0 % & § wieRlah SGH-TgH B i bk wieatga o s 2

IRa H T we-fFak, & F WA S-S 7 SRO-TH-TEE ¥ Aig 59 R w56 8§
= ' - %|

foe TemrETE Zu A dtem uiEeEr (HEgE) S S A faeeaen O disdl 21 s T genh-g
I G 9T B, 71 GRee-uld w1 aTefern wa gy ovhem % wy, fehe @A SaeREl % g
T T 3| SOl WA ARl 27 %1 T WA 2| WRE T T -t % FEm % S
T W 9Rd F AU foaR-feiea e, Smn-wads o AF-FeAiG % 9eEE ¥ gEUE ¥ OH gme
T 2

TR J WP FAta & gr wic-Fmor W e S B 2 geem o, Jevm quden Wik miA
W T AR A T % AW W W dengy wE-dftrE F Hraemt Tl 6 arsseEm
Tt 27

India’s cultural diplomacy is centered around

(A) Ramayan

(B) Multilateral engagements

(€) Business Promotion

(D) People to people contacts
Choose the correct answer from the options given below :

(1) (A) and (D) only (2} (A), (C) and (D) only

(3) (B}, (C) and (D) only (4) (B) and (D) only

wra F wrEHfow FeAlla Higa 2, Fa w
CYRRSLIEL

(B) wgEaE—-3TeFY

(C) =AME-TgeH

(D) JafFs T

A=t T ¢ fomeal § @ wEt ST =Rl 9E9 iy ;

(1) =A@ (A) 3R (D)
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(2) FEE (A), (C) IR (D)
(3) == (B), (C) 3 (D)
(4) =9 (B) 3R (D)

[Question ID = 3557][Question Description = Q46_GP_20NM0OV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13691]
2. 2

[Option ID = 13692]
3.3

[Option ID = 13693]
4, 4

[Option ID = 13694]
2) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore, The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.,
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts, People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga,

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions, The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.

Freifiea T A At i A F o s e AR

ara, i@, J, T, Am-ge, T, Fee-wa, saem-agh, T o aoea & T #
TeE TS WVSHI ¥ ® UF 2 s wHthd ®1 W 3790 WEHA® AOEa” ® ®9 5 9E w6 2| o e %
= # o vwa it weptos Towe ton W wE 81 e A oaten gud cim-gd-nfen %
sl AEE-IEE, GHI SE1 1 AT % aReEies aeeEl B Ui el o 21 R &9 % e R
Hea-ughi v i w and foes w1 gra-wa 21 g o A R e, s, = sk
<t < fa el e v gg favam 3

3q & H1 sl 3 GERa 8 S GEEaTy 3| TEaal 3 S T Aifd SeEre @ gael S 3 ol A
R -ariEed 1 e oi 21 g gléor-ge-ufern & e dentd w0 vae afwmiae 2

HRA TR SHAvI-vd TR % W S-Sy MG -TH % SAGRE W, IR THE 3| SFRRAE At H
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Forar s @ ) TS Hi-SATeE SPASEE % uE <ul % el wew, fen, e, qudaw, gife, e
3T Jim % & § wiewtaw AeH-9gHE B0 Tl vieerea om s 2
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qra 1 WA we-Eaf, @ F WY -3 B TEm-gH-ueE ¥ #ig BEH YR W SH &9 9
St 21

fog werr 2ol # wem e (WEga) S o aue Remaet @ ded 21 9 AU gere-ga
SR MY I 3, I Ghke-Gia Sl SRrn Ta 9eY 16 % A1y, Bhhe TaeH ToeHEt % g
T T 3| STl i WA TRl 27 1 il T 31 WRG T T URe-1edtd ® Em S
B W 9Rd F AU faR-fSiea e, Smn-waes o AF-FeAid % TeEs ¥ wEUs T A gme

™ 2|

T A UEFaH FAa F GRI Wf<—FA R eIF Hiag BT 81 Teem T, Sen goden iR mied
TR 1 e Al oo % e W W gEegy gr-ifEe % Evaend e f amstea
oot 27

The common thread binding India and South East Asian Countries is/are
(A) Buddist tenets

(B} Yoga

(C) Cricket

(D} Ramayan

(E) Sanskrit

Choose the correct answer from the options given below :

(1) (A) only  (2) (A), (B), (C) and (D) only

(3) (A) and (D) only  (4) (A), (B), (D) and (E) only
YR TF O-gE- U % N -
&) sigm

(B) =
(C) Tz

(D) TEE

(E) wepa

A fu e faereut d ® e I ! T HIFA

(1) F (A) @) 4 (A), (B), (O) 3R (D)
(3) e (A) 3R (D) @ FaF QA), (B) 3 (B)

[Question ID = 3558][Question Description = Q47_GP_20N0OV_S52_SHAAN_Shift2]
1. 1 [Option ID = 13695]
2. 2 [Option ID = 136%6]
3. 3 [Option ID = 13697
4. 4 [Option ID = 13698)

3) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
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rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage™. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity,

There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with

great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The commeon culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
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important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration, Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi, Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable,

Frerifia T A gy e A R o A B v G ;
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Which of the following is not reflective of India’s soft power status?
(1) Digital India  (2) Skill India

(3) Business Promotion (4) Yoga Diplomacy
frafafaa ® 9 %A Y@ i 7g afe-eaf F veitia 7@ w27

(1)  Tsfaea gfem (2) T URA
(8)  SAMT-GFEd (4) ar-meifa

[Question ID = 3559][Question Description = Q48_GP_20N0V_S52_ SHAAN_Shift2]
. 1 [Option ID = 13699]
. 2 [Option ID = 13700]
. 3 [Option ID = 13701]
. 4 [Dption ID = 13702]

bl D

4) Read the passage carefully and answer the question that follow
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India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’. India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity.
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore. The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana,
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration. Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.,

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions, The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable.

Frifa e i aley, i F= feg eyl W sw Gt
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Cultural exchanges amongst the member nations of the Shanghai Cooperation Organisation are in the following fields :
(A) Archeology
(B) Folklore

(C) Tourism
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(D) Yoga

(E) Education

Choose the correct answer from the options given below :
(1) (A}, (C), (D} and (E) only  (2) (A), (B), (C) and (E} only

(3) (A), (B) and (E) only (4} (B}, (C), (D) and (E) only

TS - HATRIA HFFIZSRA F TG 0 1 TEHh TH-TgH - e 5 57

(4) gua=
(B) wF-FEA
(C) ¥
(D) =T
(E) fazm

4= fiv o fem # @ e s = e iR

(1) & (A, (C), (D) 3 (E) (2) FFF (A). (B). (C) 311 (E)
(8)  F&EA (A). (B) R (E) (4) =as (B). (C). (D) 3k (E)

[Question ID = 3560][Question Description = Q49_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13703]
2. 2 [Option ID = 13704]
3. 3 [Option ID = 13705]
4, 4 [Option ID = 13706]

5) Read the passage carefully and answer the question that follow

India is one of the world’s largest repositories of music, dance, theatre, folk traditions, songs, performing arts, rites and
rituals, paintings and writings that are known, collectively as ‘‘Intangible Cultural Hertiage’’, India’s cultural heritage is a
source of inspiration to people everywhere. India’s century old cultural exchanges with South East Asia continue to inspire
people-to-people relationships. There is a visible impact of the Indian heritage on the scriptures and the way of life of the
people of the Mekong region. There is deep conviction about the Buddhist traits of humility, gentleness, justice and charity,
There are many similarities in languages of the region and Sanskrit. The Panchtantra and Jataka tales are narrated with
great enthusiasm and are part of folklore, The Ramayan culture is visible all across South East Asia.

The common culture binding India with South East Asian Countries apart from Buddhism is the great epic of Ramayana.
Angkor Wat has the great Ramayana Panel depicting the battle between Vanaras and the Asuras. SAARC remains an
important component of India’s cultural diplomacy representing multilateralism and people to people contacts. People to
people exchanges are being promoted amongst the BRICS countries with the BRICS Culture Ministers meetings laying down
the road map for collaboration, Cultural exchanges amongst the Member Nations of the Shanghai Cooperation Organisation is
also being actively promoted in the fields of tourism, education, science, archeology, music, dance and yoga.

India’s soft power status varies with the regions. In South East Asia, Buddhism links India to the people of the region.

In the Indian Ocean countries, Project Mausam (the monsoon) linkded the people to common traits. There are several new
links that have emerged - cricket ties with Australia and South Africa represented by Cricket connects exhibitions. The
theoretical framework for the formulation of India’s soft power status is best represented in the Government’s new ideas -
Digital India, Business Promtion, Yoga Diplomacy.

UNESCO has also focused on building Peace through Cultural Diplomacy. The influence of - Mahatma Gandhi. Nelson Mandela
and Martin Luther King Jr around the world, and the popularity of their ideas of harmonious co-existence amongst various
layers of society is considerable,

Frerifea T ) gy, S A R o A B v G ;
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34 & A sl 3 Gepa 8 S aEEaTy 3| Taaal 3 S A Aifd IeEe @ gEell St 3 ol A
wh-aTiEed w1 e oi 21 g gléor-ge-ufern & e denta w1 vae ufewiae 2

RA 3R Zlv-vd TR % W SEh -5y Mg -HeH ® AiE Har, I THEW 2| SFhRae At H
TH FEd 51 THEV-TS B W oA TR TR F g B AW 3| W MWAE OERS Hedid
YU T 2 T AGHEAIG TA JARhR A0 W T il 3| TR WEAm 5 e g9 % Wt
afsmt #1 45H T Treim Farn e S % W B @1 39 230 % ol % SeE-ueE w1 ol Weiea
TR =1 T B WIS - SATNEE ATHSORE % weE <Ell % wed wed, e, fagm, o, g, e
3 AP % A § ARG SAGH-S5H i i TR WieETga foan S 2l

yra H TE whe-Fak, & % Wy sTem-eem 21 fem-gd-uim # g w5 awa @ osa A
BiEsil]

forg wermrdE o d diom wiEeEr (FEgE) A e ame et @ Siedl 31 8 0 g3
SR WY O 3, A BRke-Gid Sl SR Ta W1sY 16t % A1y, o TaeH ToeHE % g
T TR 3| STl T WATH T 37 1 AT FAl 2| A T Ah- et o i % St
T W 9Rd F 0 foan-fefea e, =mR-wads o AF-FeAid % TeEE ¥ gEUs ¥ OH gme
T 2

TR WeFaH FAta & gr wic-Fmor @ e S e 2 geem avd, Jevm quden 3R miEs
T N AR A T % AW R W deegy wE-dftre % Hraemt Tl 6 At
i 27

The passage highlights

(1) The emergence of India as a super power

(2) The role of culture for peace and harmonious relations with other countries
(3) India’s cultural hegemony

(4) India’s relations with BRICS countries

e 1 0 FA

(1) WA 31 9T % ¥4 5 A9

(2) ¥ TW F WY Wi I WERYY T 5g BRI Y

(3)  uWA I WieHlaH AEd

(4)  RE = fFF o F Wy gy

[Question ID = 3561][Question Description = Q50_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13707]
2. 2 [Option ID = 13708

]
3. 3 [Option ID = 13709]
4. 4 [Option ID = 13710]

Topic:- GP_SetZ_A

1) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs
Month Sale of PCs
Percentage (%) Ratio of
Dastribution HP to DELL

July 17% 8:7
August 22% 4:5
September 25% 3:2
October 8% g s
November 12% T8
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Freifepa aiferssr =1 e o 2@ o o faekar < g0 s 2019 o gt 2019 9% o= e fsht o
% forqwor At ufdwraan qor HP 3k DELL =+ttt = woF aafé § fasfia B gt % e =1 sam
geran T 31 g st ° g @t Bl sorst B e @eE 45,000 (Garfee seR) 21 @it 3 faw o

ITFHE & YN T 9T T SR T

fistt worRt =t wifEEn-Taws w1 fa

foraror =6 wfcera HP 2t

DELL #i

PIGEIRGI

BRI 17% 8:7
T 22% 4:5
e 25% 3:2
HFH 8% 158
ECET 12% 7:8
femmw 16% 7:9

What is the ratio of the number of PCs sold of Company DELL during July to those sold during December of the same
company?

(1) 119 : 145 (2) 116 : 135

(3) 119 : 135 (4) 119: 130

DELL %5+ % gRi Yo &R fGumsr 4 s= w8 FfS smomst i gom #1 omua = 27

(1)  119:145 ) 116:135
(3)  119:135 (4) 119:130

[Question ID = 3562][Question Description = Q01_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13711]
2. 2 [Option ID = 13712]
3. 3 [Option ID = 13713]
4. 4 [Option ID = 13714]

2) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together 1s 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Dastribution HP to DELL

July 17% 8:7
August 22% 0,
September 25% 3:2
October 8% 1D
November 12% 7:8
December 16% 7:9

Freifepa aiferssr =1 e o 2@ o o faekar < g0 s 2019 o gt 2019 9% o= e fsht o
% feraor <t wiemean @onr HP =it DELL %=t = a9 ety § fafia fi anomssl % <= =1 sque
gz T 31 g s ° e @t Bl sorst i e @eE 45,000 (Tarfee seR) 21 @t 3 i o
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ITTHE & SMYR T 9T T SR S

st TRt =t wifEE-Taws w1 fHaw

ferertor =67 W HP 2t

DELL i

PIGEIGE)

BRI 17% 8:7
I 22% 4:5
T 25% 3:2
FFE 8% 1:8
ECL 12% 7:8
fewmsm 16% 7:9

If 35% of the PCs sold by Company HP during November were sold at a discount, then how many PCs of Company HP during
that month were sold without a discount?

(1) 882 (2) 1635

(3) 1638 (4) 885

PR TITE W HP w9 % 35% el woors g WSS T at s wee 7 HP wer % fee B s
form =2 = 99 oY

(1) 882 (2) 1635
(3) 1638 (4) 885

[Question ID = 3563][Question Description = Q02_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13715]
2. 2 [Option ID = 13716]
3. 3 [Option ID = 13717]
4. 4 [Option ID = 13718]

3) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together 1s 45000. Based on the data
contained in the table, answer the question

Month-wise Distrbution of Sale of PCsg
Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
August 22% ' 5
September 25% 3:2
October 8% T:h
November 12% 7:8
December 16% 7:9

Freifpa afersr =1 s o 2@ o w fakar < g0 s 2019 o g 2019 9% o= o fsft g
% forawor Rt ufdwraa qor HP 3k DELL =+ttt = woe aafé § fafia B gt % g =1 sam
ggran T 31 g st ° e @ Bl sl e @ 45,000 (Gafee ger) 21 @it 3 i o
3THE & YR T 9T 51 SR S

st TRt =t mifEen- o w1 fa

g st TRl = ferem

™ Fa AR — =
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= Ar R B -1 1 Ly Ed dnin ] L Al
DELL I
I GEIRG)
BRI 17% 8:7
I 22% 4:5
forars 25% 3:2
FFES 3% 1158
T 12% 7:8
ECE 16% 7:9

If the dealer earned a profit of Rs. 433 on each PC sold of Company DELL during October, then what was his total profit
earned on the PCs of that company during the same month?

(1) 6,49,900 (2) 6,45,900

(3) 6,49,400 (4) 6,49,500

IR Tge % oA DELL %ot % fogear o wess Al womrs W &, 433 =1 ans win Be o 39 9el
o fershar =1 fopaam @y e ?

T 6,45,900
¥ 6,49,500

(1)
(3)

[Question ID = 3564][Question Description = Q03_GP_20N0V_S2_ SHAAN_Shift2]
. 1 [Option ID = 13719]
2 [Option ID = 13720]
. 3 [Option ID = 13721]
. 4 [Dption ID = 13722]

¥ 6.49,900
¥ 6.49,400

(2)
€Y

bl B

4) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data
contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
August 22% 4:5
September 25% 3.2
October 8% 715
November 12% 7:8
December 16% 7:9

Freifpa @i =1 e O 2d oo ue faghar < g0 e 2019 o fRgrax 2019 9% s e Ff o
= feraor <t ufzmar qon HP 3k DELL %=afaat * aum #afy 5 foghig el womst % = =1 stum
gerrn T 2| sEt sradt A fsfia mdt Sl st ) 3w deEn 45,000 (Yarfam 39R) 21 arfeem 8 fao
IS = STYT 9T 99T =1 I &

Ftt Tt = mifaE—Tass = e

HTH st @Rt = e
o i ufawaar HP #1R
DELL =i
PIGEIREI
TS 17% 8:7
ST 929% 4:5
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faam=r 25% 3:2
KA ETACH 3% i
AR, 12% 7:8
fommsm 16% 7:9
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The number of PCs sold of Company HP during July is approximately what percent (%) of the number of PCs sold of Company

HP during December?
(1) 110% (2) 140%
(3) 150% (4) 130%

FeTE % WEH § HP 1 % g o e sl gt f gen foawen % wdd 8 HP %9 % g 99

=l gt it dem w1 e afeea 20
(1) 110%
(3) 150%

(Z2) 140%
4) 130%

[Question ID = 3565][Question Description = Q04_GP_20NOV_52_SHAAN_Shift2]

1. 1 [Option ID = 13723]
2. 2 [Option ID = 13724]
3. 3 [Option ID = 13725]
4. 4 [Option ID = 13726]

3) Consider the following table that shows the percentage (%) distribution of the number of
Personal Computers (PCs) sold by a dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies during the same six months. Total
number of PCs sold in all these six months put together is 45000. Based on the data

contained in the table, answer the question

Month-wise Distribution of Sale of PCs

Month Sale of PCs
Percentage (%) Ratio of
Distribution HP to DELL

July 17% 8:7
August 22% 1.5
September 25% 3:2
October 8% 100
November 12% 7:8
December 16% 7:9

Freifpa aifersr =1 e O 26 oo we faghar < gy e 2019 o fRgrax 2019 9% s e fef o
% forqmor ft ufemraa aon HP 3k DELL =w=afmt = waH 2mafy 8§ fafhia B st % g 1 smuma
gerrn T 2| o5 sradt A fesfia mdt sl smornt Y 3w weEn 45,000 (Yarfam 2ER) 21 arferm | fau

ITTHE = FATYT 9 99T =51 I 4

Ftt Tt = miiam-Tasa o faa

Hq1E st @Rt = formm
o =i ufawaar HP 2R
DELL =i
PIGEIREI
TS 17% 8:7
ST 929% 4:5
faamr 25% 3:2
KT 8% 7:5
AR, 12% 7:8
foumsm 16% 7:9
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What is the total number of PCs sold by Company DELL during August and September together?
(1) 10000 (2) 15000
(3) 10500 (4) 9500

s ud o A1 w21 3 DELL v % iy o= T e (st Sorenl 61 g @ 27

(1) 10000 (2) 15000

(3) 10500 (4y 9500

[Question ID = 3566][Question Description = Q05_GP_20NOV_52_SHAAN_Shift2]
1. 1

[Option ID = 13727]
2. 2

[Option ID = 13728]
3 3

[Option ID = 13729]
4, 4

[Option ID = 13730]

Topic:- GP_Set2_B

1) In which level of teaching promotion of critical thinking is the hall mark?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

finequr & e TR T STIeTATCTs Tamad o S99 i Ta9T TE Sl 2 7

()  Fyd &R (2) IEEY T
(3 fomfi-fom = 4) vare e '

[Question ID = 3567][Question Description = Q06_GP_20NOV_52_SHAAN_Shift2]
. 1 [Option ID = 13731]
. 2 [Dption ID = 13732]
. 3 [Option ID = 13733]
4 [Option ID = 13734]

P

2) The key behaviour of an effective teacher is marked by which of the following features? (A) Structuring (B) Teacher
task orientation (C) Instructional Variety (D) Lesson clarity (E) Probing Choose the correct answer from the options given
below :

(1) (A), (B) and (C} only {2} (A), (C) and (D) only
(3) (B), (C) and (D} enly {(4) (C), (D) and (E) only

=g fafirearet & @ =i w1 =aer yarEh e =1 ogw 7 27
(&) \E

(B) Ters-mH-gaifimeiwm

(© e ffaam

(D) -

(E) v=am

Arer fa e fared] A W e S 1w Hif

(1) FFF(A), (B) 3R (C)



www.prepp.in . rep p

Your Personal Exams Guide

(2)  FFF (A), (C) 3R (D)
(3)  %FA (B). (C) 2R (D)
(4) e (C), (D) 3T (E)

[Question ID = 3568][Question Description = Q07_GP_20N0OV_52_SHAAN_Shift2]
1. 1

[Option ID = 13735]
3.7

[Option 1D = 137386]
g

[Option ID = 13737]
4. 4

[Option ID = 13738)]

3) Match List | with List |l gives their characteristic features.

List | List Il

(Modes of Evaluation) (Characteristic Features)

(A) Formative Evaluation (I} Compares one student with another student

(B) Summative Evaluation (lI) Compares the progress of a student against prespecified standards

(C) Criterion-referenced Evaluation (lll) Used primarily for motivational and monitoring purposes of learning
(D) Norm-referenced Evaluation (IV) Used primarily for gradation of progress made

Choose the correct answer from the options given below :

(1) (A)-(1¥), (B)-(l1), (C)-(1), (DY-(1)  (2) (A)-(lID), (B)}-(IV}, (C)-(11}, (D)-(I}

(3) (A)-(I), (B)-(1), (C)-(I), (D)-(IV)  (4) (A)-(1}, (B)-(N), (C)-(IV), (D)-(IlI)

g1 % my g1 w1 frem B wom g geai A Rl ughel 2, of gut g o wife
woon 3| g1 wd g1 o faer ol

-1 TI-11
TeATFA-TgH EllECE ol
(A) Tmiomeas g @ o faremf f g femfl @ o w2
(B) TheHIcH® HoATehA () wr fgeeff H gom @ Fufg = @
-l 2|
(C) Tpu wefta weaieA (IID) vouma: sfem i afien g eHAEw %
T W
(D) Wi Hefda gears (IV) wuma: Fomm e % yvisor 2g W
T 31

e B o el 8 @ w0 s w0 e Hifvo

1) @-AV). B-dID. (O-(D). (D)-dD
2)  (A-UD. B)-aV). (C-AD. (D)-(D
@)  @A)-aDh, @)-d@). (O)-d1l). (D)-IV)
@  A-D). B)-1D), (C)-(IV), (D)-dID)

[Question ID = 3569][Question Description = Q08_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13739]
2. 2 [Option ID = 13740]
3. 3 [Option ID = 13741]
4. 4 [Option ID = 13742]

4) Given below are two statements :

Statement | : One of the basic principles of progressive view of teaching is that education should be life itself rather than a
preparation for living,

Statement Il : According to reconstructionist view of education the new social order must be ‘genuinely democratic’.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement |l is false, (4) Statement | is false but Statement Il is true.

Rasm e

F9 (@) : fovagor % it (iferetier) gfemntor 1w e fagr 2 TR e sraw sfifas

Hﬁﬂ'&mﬂ%ﬂm#ﬁ%%:ﬁ%l
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9 (1D) : forem % yAfmoETd R g/ % oaR =it i sreem FiveT =9 O yenaites
B =T

SURE FYA * ars |, e g e et f @ 9 s = Al

(L
(2)
(3)

(4)

o (1) 3T (1) 291 a3 8
9 (1) 3R (1) ST 19T &

F99 (1) 96 2, a1 597 (1) 39 2

F9 (1) w19 2, A w99 () 93 2

[Question ID = 3570][Question Description = QD9_GP_20N0V_S2_SHAAN_Shift2]

bl D

5) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

1 [Option ID = 13743]
2 [Option ID = 13744]
. 3 [Option ID = 13745]
. 4 [Option ID = 13746]

prepp
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Assertion (A) : ‘Teaching’ involves critical and creative interchanges between teacher and learner and hence it is different
from ‘instruction’ and ‘training’.
Reason (R) : Both ‘instruction’ and ‘training’ are directed at lower order cognitive interchanges,

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

the correct explanation of (A).
(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

4= gt Tom v e 2 ;. o st (A5581ﬁ0nA)%mﬁmﬁ%ﬁ?@ﬁaﬂ%m(ReasonR)%ﬁ

.
®4H ;

Y (A) fram, foer wa ofrmrral & Aoy wiiueTs @ ETer AR W guEie

A1 2, 3T: T2 SIS wd afneer @ fim 2

F (R) “SRTE T GG 2 & AT SRR -UEH % i WROWR SR gk 2l
I HUAT 6 A A, A foy e et # @ v 3umeh I w0 =A <fifww

(1)
(2)
(3)
(4)

(A) 3R (R) ZHT @&t £ 3l (R), (A) R wdt = 2

(A) 3R (R) 21 w2t 2, A (R), (A) i &t = 7@ 2
(A) W&l 7, 9T (R) /&1 781 2

(A) W&l 721 2, df (R) w8l 8

[Question ID = 3571][Question Description = Q10_GP_20NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 13747]
2. 2 [Option ID = 13748]
3. 3 [Option ID = 13749]
4. 4 [Option ID = 13750]

6) In which of the following researches, attempts are made to establish context-free generalizations?
(1) Phenomenology (2) Grounded theory
(3) Symbolic interactionism (4) Experimental Studies

Ftfiga wivi & @ Prad ey ammhieo i o & s By ard 87

(1)
(3)

AT -37A -Jard (2) o Tagra
PLIEAReE e o | & o) (4) TAIEHE STSHEA

[Question ID = 3572][Question Description = Q11_GP_20NOV_52_SHAAN_Shift2]

oLk B2

. 1 [Option ID = 13751]
. 2 [Dption ID = 13752]
. 3 [Option ID = 13753]
. 4 [Option ID = 13754]

(2) Both {A) and (R) are correct but (R) is NOT
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7) Identify the main features of ‘qualitative research’ from the following :
(A) It is concerned with understanding the phenomena from the participant’s perspective
(B) It assumes that there are social facts with a single objective reality
(C) Researcher becomes immersed in the situation, present or past
(D) Researcher is detached from the study to avoid bias
(E) There is greater flexibility in both the methods and research process
Choose the correct answer from the options given below :
(1) (A), (C) and (E) only (2) (A), (B) and (C) only
(3) (B), (C) and (D) only (4) (C), (D) and {E) only

et < et femtaanatt 4 @ T wy 6 ggwE W)

&) =g wfart & aftisa @ e % s@ey & arafe 2|

(B)  THH TE TR T 2 WIS 93 Faw Uh SegiiE A & 9 B 3
(© el adum syt affeufEt § e s 2

(Dy  wternsff e @ seR % TAT T 3 A TR W g W T B
(E) 394 woneh w8 wa-ufEar 2 § siend g )

=l T2u 70 formmeul ° © HET 99T =Rl ==E whifg

1) == @A), (O) i (B)
@  F\E (A, B) IR (©)
(3) @A ®), (C) ¥R (D)
@ %ad (O), (D) it (E)

[Question ID = 3573][Question Description = Q12_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13755]
2. 2 [Option ID = 13756]
3. 3 [Option ID = 13757]
4. 4 [Option ID = 13758]

8) Match List | with List Il ;

List | List Il

Methods of research Features emphasized

(A) Experimental (1) Primary and secondary sources tapped with emphasis on internal criticism
(B) ExPost Facto (ll) Status of facts and conditions are ascertained

(C) Descriptive  (lll} A variable is manipulated to see its effect on other variable

(D) Historical (IV) The differences are noted and factors causal or otherwise are determined
Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(IN), (C)-(IN), (D}-(IV)  (2) (A)~(I1), (B)-(1), (C)-(IV), (D}-(II1)

(3) (A)-(l11}, (B)-(1V), (C)-(1), (D)-(1)  (4) (A)-(1V), (B)-(1l1}, (C}-(1), (D)-(IN)

fi-1 % @y gei-1I1 % e ik
Cial THi-I1
e TgfaEt w7 fosiaard
(A) AN () Aafes THeEAT 90 9 Cd g8 TS
et =iat =1 aaET 2 2
(B) AN AL wifeate wa o A feate gRfvea 5
il
(C) =TT D) @& =/ T 99 5@ % o oF A /-
o =t 21
D) e IQv) faig =1 dvm o9 Fu Affes st o
I GETTad 3 1 2

4= v U feredl 4 @ v S = 9 Fiw

1 (A-D. B-ID. (O)-(IID). (D)-IV)
2 AXAD. (B)-D). (O)-IV). (D)-dII)

FAR LY FAY STTTY D FTRAT S FTTh ST 0T
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4  (A-IV). B)-I), (C)-(D,. (D)-(ID)

[Question ID = 3574][Question Description = Q13_GP_20NOV_S2_SHAAN_Shift2]
. 1 [Optien ID = 13759]
2 [Option ID = 13760]
3 [Option ID = 13761]
4 [Option ID = 13762]

-

9) Given below are two statements ;

Statement | : Data analysis in research being a technical job, ‘research ethics’ does not matter.
Statement Il ; ICT is helpful almost at all stages of research,

In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

99 () : IIEYE # Tou-Taveior @ TR B E % BV ATEYH- SR ST
eyl T 2
% (1D : FTEHT % T Yol = 4 o1, d.2. agren g 3|

ST FYF F e ¥, 9 G e fawen 7 9 w9 s o 9w fifew

(1) =y (@) 3 (A0 3 o B
(2) = (D) 3R D A 3Hew &
(3)  =ud (1) GcA &, il =9 (ID) 319 &

(4) = (1) 39c 2, | e (D) 5ed ©

[Question ID = 3575][Question Description = Q14_GP_20M0V_S2_ SHAAN_Shift2]
. 1 [Option ID = 13763]
2 [Option ID = 13764]
. 3 [Option ID = 13765]
. 4 [Option ID = 13766]

P bl B —

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : When Null Hypothesis (HO) is rejected, researcher’s hypothesis (H1) is accepted.

Reason (R) : Null Hypothesis (HO) is a chance hypothesis and as such (H1) being true, the researcher’s hypothesis lies in the
domain of acceptability.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R} are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is NOT
the correct explanation of (A).

(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

=t @ e o e € : o oIfiemum (Assertion A) & ¥ W fafad B 1 500 3% R0 (Reason R)

= F

At (A) : s ol aferew T (Te) srefipe = § ol @ @ sHEuEal R afeRe
(w=11) i & Wit 2|

T (R) i afiwew (W) TF Tt 9ieRed T § 3T UH (U9:) WeF §H F HRO

SAUHFRA 61 ufeheuAT whepfa i afdfl & i s )
SUUTh %Al % e 1, Fi= e fereat d @ wedt 39m7p 59w = == fifse

1) (A) 3R R) FAT T 8 @R R), Q) F g =nem 3
(2) (A) s (R 2t w28 B, @ R, (A) i ot =em 96 2
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() (AT 2, dF R) T T 2
@ (A= R, 9 R) @l 2

[Question ID = 3576][Question Description = Q15_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13767]
2. 2 [Option ID = 13768]
3. 3 [Option ID = 13769
4. 4 [Option ID = 13770]

11) Which of the following is an exclusive example of Non-verbal cue that includes the pitch, rate, volume and use of
pauses?

(1) Linear Model of Communication (2} Interactional Model

(3) Non-Verbal Cues (4) Para-Language

frafafga 5 & w7 wFerE 950 F o sgEm § N sme-eme (fm), ® (w), 9 (afem)
it form (9i) =0 w=m miae 27

(1) == i qisa (2) FAEE Tg
(3) U Thd (4) IO T

[Question ID = 3577][Question Description = Q16_GP_20N0V_S52_ SHAAN_Shift2]
1 [Option ID = 13771]
2 [Option ID = 13772]
. 3 [Option ID = 13773]
. 4 [Option ID = 13774]

e B

12) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : In the context of communication, the perceptual process creates, semantic-noise also called word-noise.
Reason (R) : The various meanings either cannotative or denotative are sources of semantic noise.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).

(3) (A) is correct but (R} is not correct,

(4) (A) is not correct but (R) is correct,

T o7 wF fou T 2w U (Assertion A) F w9 ¥ Tofem § @1 oo 30% FRW (Reason R) %
A

ST (A) TGN F TEH § STAUNUTNT TER Tiea® SO Scaiea F0l 2 ol Iiees -1
(TS—ara=) F=d 3

0 (R) : AT A1 Feqad™h H1 = fofas A9l & G Wieas -2 7 2

STRE FYAl % T 5, T 50 T ool § ¥ 998 S99 ST B 99 Fi

(1) (A) 3 @R) T TE 2 3R (R). (A) F @t = 2
(2)  (A) IR (R) AT T 2, S R), (A) i wdl =memn 76 2
(3) (AT 2, ot (R) o T 2

@ (ATATE L R R w2
[Question ID = 3578][Question Description = Q17_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13775]
2. 2

[Option ID = 13776]
3.3

[Option ID = 13777]
4, 4

[Option ID = 13778]

13) Given below are two statements :
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Statement | : Appropriate word choice is an essential of effective oral communication.
Statement Il ; Facial expression and postures fall under visual communication.
In the light of the above statements, Choose the correct answer from the options given below :
(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= 3 Fum few i %
F (D) - Turelt w1fers TSN 2g WER WRGl 1 A AT B
w1 (D) : tifigss wa wd Wi gya-aninn & e 2|

ITE A H o 7, 919 i v et 8 o @t s = wa i

1) FoR Q) S JD) I FF B
@ A () S (D) 3F! e
3) = (D) w3, < w9 (1) e 2

(4) = (D) 3 2, o wue (D 9 2

[Question ID = 3579][Question Description = Q18_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13779]
2. 2 [Option ID = 13780]
3. 3 [Option ID = 13781]
4, 4 [Option ID = 13782]

14) ldentify the barriers to communication from the list given below :
(A) Time and distance

(B) By-passed instructions

(C) Encoding of thoughts and ideas

(D) Decoding of thoughts and ideas

(E) Logical sequence

Choose the correct answer from the options given below :

(1)} (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (D) and (E) only

seiffas et & & waw 6 anaret = vgad -
(A) T AR
(B) ufEE o

(C) u= uE R =i geag w

(D) @ foem = gz g =
(E) i+ 70

4 i e fawedl § ¥ w91 SR A 9 s

(1) = (4) 3R (B)
(2) e (B) 3R ()
(3 & (C) 3R (D)
@ e (D) MR (B)

[Question ID = 3580][Question Description = Q19_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13783]
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| 2. 2

[Option ID = 13784]
3.3

[Option ID = 13785]
4, 4

[Option ID = 13786]

15) Match List | with List Il ;

List | List Il

Types of Communication Main features

(A) Downward Communication (1) Grows primarily to meet organizational/member’s need for communication
(B) Upward Communication (ll) It forms a useful link in decision making for task coordination

(C) Horizontal Communication (lll) Provides management with feedback about current issues and problems
(D) Grapevine Communication (IV) It is the most common communication system in an organization

Choose the correct answer from the options given below :

(1) (A)-(1), (B)-(IN), (C)-(1V), (D)-()  (2) (A)-(IN), (B)-(), (C)-(M), (D)-(IV)

(3) (A)-(ll1}, (B)-(IV), (C)-(D), (D)-(II)  (4) (A)-(IV), (B)-(lII}, (C}-(II}, (D)-(D)

get-1 % = g1 = fiem Hifsg
g1 gE-11

(A) e e (D B0 % Fe& 8 92N 6 STEvEsa &
o A % fon wgma 8 wem 2

(B) safomst Fesr D) wrt-mmema 3g fom @9 § w st
HI59H ST 2|

(C) &fs T AID) =dud fowal v wuene f gfagfe & 9w
AEd 1 2|

(D) TU-FTST GO (IV) TRt off Toop W =g Td-TmE gEEo
T 2

I o o faedl § @ U9 ST 1 T i

(1)  @-O. B)-D), (O)-IV), (D)-1IL)
2 @-AD. B)-O). (O-d1I). (D)-AV)
3 @D, B)-aV). (O-1). O)-aAh
@  (A-IV). B)-I), (C)-(1I), D)-(D

[Question ID = 3581][Question Description = Q20_GP_20NMOVY_S2_SHAAN_Shift2]
1. 1 [Option ID = 13787]
2. 2 [Option ID = 13788]
3. 3 [Option ID = 13789]
4, 4 [Option ID = 13790]

16) If the cost price is 25% of selling price, then what is the profit percentage?
(1) 100 (2) 200
(3) 300 (4) 400

af e, fasramea =1 25% & a1 o9 6 fawaan F41 8 7

(1) 100 (2) 200
(3) 300 (4) 400

[Question ID = 3582][Question Description = Q21_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Optien ID = 13791]
2. 2 [Optien ID = 13792]
3. 3 [Option ID = 13793]
4. 4 [Option ID = 13794]

17) A seller mixes 26 kg rice of a price of Rs, 20/kg, with 30 kg of different variety rice of a price of Rs, 36/kg. He sells
both the mixed rices at Rs. 30/kg. What will be the profit in percentage?

(1) 5% (2) 10%

(3) 15% (4) 20%

ue faghar 26 et amae €. 20/FFet % ot W wlis #X 3T g TR w30 R =aw faen g@ &
36 % 36/ % R Tl a1 ik 3w whR fufia g wmem T 30/Fee % o WoswaT 31 S Y

[ S L L TN
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(1) 5% @ 10%
(3)  15% 4 20%

[Question ID = 3583][Question Description = Q22_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13795]
2. 2 [Option ID = 13796]
3. 3 [Option ID = 13797
4. 4 [Option ID = 13798]

18) A milk man purchases milk at Rs, X per litre and sells it at Rs. 2X per litre, 5till he mixes 2 litres of water with every 6
litre of pure milk. What is his profit percentage?

(1) 33.33 (2) 66.66

(3) 133,33 (4) 166.66

T Fy-foa . X/t % T | 39 @lg 3. 22X/ % | | 991 2| 76g 9% T8 2 e et
SOF 6 Tiet G g9 | T 4a1 21 ek @ <t wfawraa o 27

(1) 33.33 (2) B606.66
(3) 133.33 (4) 166.66

[Question ID = 3584][Question Description = Q23_GP_20N0V_S2_ SHAAN_Shift2]
1. 1 [Option ID = 13799]
2. 2 [Option ID = 13800]
3. 3 [Option ID = 13801]
4. 4 [Option ID = 13802]

19) The average monthly income of P and Q is Rs, 5,050/-, The average montly income of Q and R is Rs, 6,250/- and that
of P and R is Rs, 5,200, What will be the monthly income of P?

(1) Rs. 3,000/- (2) Rs. 3,500/-

(3) Rs. 4,000/- (4) Rs, 4,500/-

P sift Q =it sitga =ifirss w1 5050 ¥04 2, Q 31t R =1 siida miftms 3119 6250 w4 qo P siit R i

sitae wiftes 31 5200 w93 2| P ki urider 31 Frot gnfi 7

(1)  3,000/- & (2)  3.500/- 793

(3)  4.000/-%93 (4)  4,500/- 574

[Question ID = 3585][Question Description = Q24_GP_20NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 13803]
2. 2 [Option ID = 13804]
3, 3 [Option ID = 13805]
4, 4 [Option ID = 13806]

20) The average of 4 terms is 20, and the first term is 1/3rd of sum of the remaining 3 terms. What will be the value of
first term?

(1) 15 (2) 20

(3)25 (4)30

4 FEAl F1 oftET 20 & 97 ISl WAt W 3 e & A w 1/3 2| USell Hem % A a2 ¢

(1) 15 2 20
(3) 25 4 30

[Question ID = 3586][Question Description = Q25_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13807]
2. 2 [Option ID = 13808]
3. 3 [Option ID = 13809]
4. 4 [Option ID = 13810]

21) According to Naiyayikas we ascertain the relation of universal concomitance between x

and v :
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(&)

(B)
<

)

We can determine the relation only if we can determine the relation of essential
1dentity between x and ¥

By perceiving that in all cases the presence of x 1s accompanied by the presence of ¥

We can determine the relation only i1f we can determine the relation of cause and
effect between x and ¥

By not perceiving any instance where the presence of x is not accompanied by the
presence of ¥ or vice-versa

Choose the correct answer from the options given below :

(1)
2)
(3)
(4)

(A) and (C) only
(D) and (C) only
(B) and (D) only
(A). (B) and (C) only

Semfis! F AR 79 x 3R y § aEdiftE eemira = gy ghTEe 7@ 3

(A)  x F y = S SuiEE e S1E UhoTEal B Greaey giHiged 4 W 8 B qee F 99
T |

(B) Tl TR § x F U B WA y 1 IR F A BE A1 T B

(C) =8 @9 Tt adl GETTa B TFd © 79 4 x AN y F 9 FHA-FE0 GG GHiTad B A

D) x #Fi Eaa F my y H st = y F wFaE F wy x F [ = w5 f e =
ST A FH|

i fou e ferret 3§ @ @ weT T = it

(1) %= Q) IR (O)

(2) = (D) 3R (C)

(3) a3 (B) 3k (D)

@ = (A). (B) ¥R (C)

[Question ID = 3587][Question Description = Q26_GP_20N0OV_52_SHAAN_Shift2]
. 1 [Option ID = 13811]
. 2 [Dption ID = 13812]
. 3 [Option ID = 13813]
. 4 [Option ID = 13814)

1
2
3
4

22) Matoh List T with List IT :

List I List I1
(A) Vyapt1 (I)) The property being inferred
(B) Linga (IT) Locus of hetu and Sadhya
(C) Sadhya (III) Sign or reason
(D) Paksa (IV) Universal concomitance

Choose the correct answer from the options given below :

(1
2
(3)
(4)

(A)-D. (B)-AID). (O-dI). (D)-IV)
(A)-aD, (B)-(I1I). (C)-(I), (B)-(AV)
(A)-1AV), (B)-(IIT). (C)-(T), D)-(IL)
(A4)-aID. (B)-D). (O-AV). (D)-ID)

prepp
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Tei-1 % s gE-11 = ferm =hifem
g1 11

& = D e I A
B Fom dD %g i [ e
(C) wr=H (II) | 3T HRO
(D) UH (IV) wEifs agmiia

e fqu o et 4 o wa SR w9 Hifd

1 @-@. (B)-dLL). (C)-AD. (D)-IV)

@)  AQ-aAD. B)-1LD), (C)-(1). (D)-IV)

3)  @-aQv). B-dID. (O)-1). (D)-aD

@ Q- B)-0). (O)-aV), (D)-ADn

[Question ID = 3588][Question Description = Q27_GP_20N0V_S2_ SHAAN_Shift2]
1. 1 [Option ID = 13815]
2. 2 [Option ID = 13816]
3. 3 [Option ID = 13817]
4, 4 [Option ID = 13818]

23) Given below are two statements :

Statement I : According to Classical Indian Logic the fallacies (hetvabhasa) are not

errvors of inference, but rather hindrances to inference.

Statement II: A fallacy i1s really a “seeming reason or mark” (hetvabhasa), which. if

recognized, would prevent the inferential cognition from arising.

In the light of the above statements, Choose the correct answer from the options given
below :
(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I 1s true but Statement II is false.
(4) Statement I 1s false but Statement II 1s true.
fiet gt o fag e £
7 (D) : AR g9 TS % STER SeardTE JTAF i S Ta Atfig =auH )
I (1D : TCAITE TEga: SATTH! RV H1YS1 WHd S TR U 8 S 9t A S

1 Seatt = AR @ 2

I T & A |, dr9 By 1w el d @ 9t 3w = w=e il

1)
(2)

(3)

FyE (1) #) (D 2+t 7 8
=y (1) 3R (D) 1 199

g (I) T 2, A 99 (1) o0 2
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4 = () Ime 2, Wi B () 8% 3

[Question ID = 3589][Question Description = Q28_GP_20NOY_S2_SHAAN_Shift2]
. 1 [Optien ID = 13819]
2 [Option ID = 13820]
3 [Option ID = 13821]
. 4 [Option ID = 13822]

o 2

24) *“‘All radically egalitarian societies are societies that do not preserve individual liberties’’.

Which of the following statements is true with reference to the above statement?

(1) ‘*No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is logically equivalent.

(2) ‘*No radically egalitarian societies are societies that preserve individual liberties’’ is obverse of the given statement and
it is not logically equivalent.

(3) “*Some radically egalitarian societies are societies that preserve individual liberties’’ is converse of the given statement
and it is logically equivalent.

(4) ‘*Some radically egalitarian societies are not societies that preserve individual liberties’’ is converse of the given
statement and it is logically equivalent.

“Ted: A GHATEEl WA U oA § o dafen wderan 5 w18 et £ sreiffigg vl 09 e
1 FUT IUUTF * ded § "wer a7

(1) =g sft yoia: andrEEl TEES UAT GETS A8 2 S Seither TEdera o Wi el 2] few T e
T Tg Ufaalda I § I a1 B9 ¥ g9ged 3

@ w0 +f 9o UHaEEl @ UH WA TR R S St tadear  aida e 21 i e e
<1 75 Ufdataa o § 3t aifdes wu @ sraage )

B)  F U TIAEE GETS O T 3 S aRen e weE @ 81 e e wea w e wig
9T B 3R qIH® =9 & "AE 2|

(9  FB Y GHaEE] TS U U T 6 S Jafew a1 wiad 5 8l G e e & g
sfeger AT 2 TR I B9 W gaged 2

[Question ID = 3590][Question Description = Q29_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13823]
2. 2 [Option ID = 13824
3. 3 [Option ID = 13825]
4. 4 [Option ID = 13826]

25) Two propositions are contradictories if :

(1) One is denial or negation of the other

(2) If they can both be true but cannot both be false

(3) If they have different subject and predicate term and differ from each other in both quality and quantity

(4) If they have the same subject and predicate terms but differ from each other only in quantity but not in quality

71 Attt = 2 3f

(1) =%, g = oy F 2 91 T 2

(2) 3R, T U T WAl § AR S AU T 8 et

(8) TR Ih 327 IR fag=m ug fim 1, v o ofik AEn o srem 2

(4) IR 37 29T I faem anm § iR 2 e wEn | af T § weg o # i 3
[Question ID = 3591][Question Description = Q30_GP_20N0V_S52_ SHAAN_Shift2]
. 1 [Option ID = 13827]
2 [Option ID = 13828]

. 3 [Option ID = 13829]
. 4 [Dption ID = 13830]

bl D —

26) What is the binary equivalent of the decimal number 67,6257
(1) 1000010.110 (2) 1000011.110
(3) 1000010.101 (4) 1000011.101

aqHeE 9T 67.625 i fgenard wuges @1 27

(1) 1000010 . 110 (2) 1000011. 110
(3) 1000010. 101 (4) 1000011.101
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[Question ID = 3592][Question Description = Q31_GP_20NOV_52_SHAAN_Shift2]
154

[Option ID = 13831]
Lok

[Option ID = 13832]
i

[Option ID = 13833]
4. 4

[Option ID = 13834)

27) ldentify the correct order of the following different types of computer components ranked from fastest to slowest in
terms of access time,

(A) RAM

(B) Optical Drive

(C) CPU Cache

(D) SSD

Choose the correct answer from the options given below :

(1) (B), (D), (A), (C) (2} (C), (D), (A), (B)

(3) (A), (B), (C), (D) (4) (C), (A), (D), (B)

UFE 2IEH A § T@d g @9l oo o el i, wors % 3 % e e Al § @ wdt ww R ugeE

K

A @

(B) s gred

() g, FHwW

(D) TH.TEE.

Fr fou e fasedi # € W& ST A A Hif

1 B). D). A). ()
2 ©O. D). &.®

3) ). B, ©), D)
@ (0. A). D). B

[Question ID = 3593][Question Description = Q32_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13835]
2. 2 [Option ID = 13836]
3. 3 [Option ID = 13837
4. 4 [Option ID = 13838]

28) Given below are two statements :

Statement | : The abbreviation ‘MOOC’ stands for ‘Massive Open Online Courses’,

Statement Il : The abbreviation ‘SWAYAM' stands for ‘Study Webs of Active-Learning for Young Academic Minds’,
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement |l are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement |l is false, (4) Statement | is false but Statement Il is true.

e gt e g e g
w9 (1) g, 317 315, T uae 2 - B o mm sinenss wew
% (1I) : T, E5 QAR CUH. B Haad § - S oW I ufca-afin v 7 vshefis

S

IUTh R = Tl H, o 3y o fomeal o @ wE s o == hifa

(1)  weE () 3R (D) 9FT aeT &
2 e (J) SR (D IF 3T &

(3) A (1) uca &, ©ifed A (D) #1552



www.prepp.in .repp

Your Personal Exams Guide

(4) = () 0 2, S w5 (D) 9 2

[Question ID = 3594][Question Description = Q33_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13839]
2. 2 [Option ID = 13840
3. 3 [Option ID = 13841]
4. 4 [Option ID = 13842]

29) Which of the following statements are related to the role of ICT in citizen services?
(A) Access to public documents

(B} On-line payments

(C) Better medical education across the country

Choose the correct answer from the options given below :

(1) (A), (B) and (C) (2) (A) and (C) only

(3) (B) and (C) only (4) (A) and (B) only

frefafiga 4 @ F-F8 ¥ w0 T T 4 ong.h A, Fi e © aatod 27
(&) TR FRES 7 95
(B) A< YaH

(C) v 3w ¥ sat e fan

e fau o Rreedt @ O 98 39w 9ue S

1 @A), B IO
2  FEE (4) AR (C)
(3) &« (B) 3R (C)
(4 %3 (A) 3R (B)

[Question ID = 3595][Question Description = Q34_GP_20NOV_52_SHAAN_Shift2]
1. 1 [Option ID = 13843]
2. 2 [Option ID = 13844]
3. 3 [Option ID = 13845]
4, 4 [Option ID = 13846]

30) Match List | with List Il :

List I List Il

(Computer Terms) (Description)

(AY HTML (l) Semantic Web

(B) Web 2.0 (II) Use of Internet to make phone calls

(C) Web 3.0 (Ill) Language used to create web pages

(D) VOIP  (IV) Collaborative web

Choose the correct answer from the options given below :

(1) (A)-(ll1}, (B)-(1V), (C)-(1), (D)-(1)  (2) (A)-(lID), (B)-(1), (C)-(IV), (D)-(Il}
(3) (A)-(11), (B)-(IV), (C)-{1), (D)-(N1)  (4) (A)-(IV), (B}-(1I1}, (C}-(1), (D)-{IN)

=1 % o gE-11 = faem Fifsg
-1 g=h-II
R U2 oo
(4) v @ wifew aw
(B) =% 2.0 (ID) T Fed FH & e weee = uam
(C) 3% 3.0 (IID) & o =l 5 * foe s =6t 718 e
(D) .ot e . (IV) wsEifes 39
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(1)  A-dIh, B)-aV), (C)-1D), (D)D)
2)  A-dID. B)-@). (O)-AV). (D)-AD
@ A-ah. B)-AV), (O-D, O)-A1D)
4  A-IV). B-AID. (C)-1), (D)-L)

[Question ID = 3596][Question Description = Q35_GP_20NOV_52_SHAAN_Shift2]
. 1 [Option ID = 13847]
. 2 [Option ID = 13848]
. 3 [Option ID = 13849]
4 [Option ID = 13850]

b B —

31) Given below are two statements :

Statement | ; Noise Pollution has an adverse impact on hearing ability as well as psychological well being of a person,
Statement Il : Human perception of noise levels is linear.

In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.

(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

= g #o w1 % -

H (D) - ol TgE w1 vfage wwE =t i sEm-mte & wmy-wy Teee-Ewes ) o
TSAT 21

w9 (D) : e STEER, -5 & g9y o g 2|

ST HIA H s |, 9w e fawet F @ @€ s = A

(1) = (@) 3 AD) S v 8

@) e () R (D) ST oTaed &

(3) = (D) "eA B, afd w99 (1) 184 3

@ = () g 2, 9 e (D) g B

[Question ID = 3597][Question Description = Q36_GP_ZONOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13851]
2. 2 [Option ID = 13852]
3. 3 [Option ID = 13853]
4. 4 [Option ID = 13854]

32) Which country is in the process of setting up the largest integrated solar-wind energy park of 30 GW capacity?
(1) China (2) India
(3) Australia (4) Saudi Arabia

frefaiga 4 3 =65 @1 29 30 fim are fi awr T Gva % g9y 53 gR-ag-Se-sam 1 e i
sk § wem 27

(1) =m (2) 9rE
@)  wRfEm (4) -

[Question ID = 3598][Question Description = Q37_GP_20N0OV_52_SHAAN_Shift2]
1. 1 [Option ID = 13855]
2. 2 [Option ID = 13856]
3. 3 [Option ID = 13857]
4. 4 [Option ID = 13858)

33) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
Assertion (A) : There has to be an integrated approach to achieve the targets of Sustainable Development Goals (SDGs).
Reason (R) : Many of the SDGs are interconnected.

In the light of the above statements, Choose the most appropriate answer from the options given below :
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(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of {A).
(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct.

=t 3w fam e 2 @ oF e (Assertion A) ¥ ¥ ¥ fafad ® @ 780 0% FRW (Reason R) &
E‘Ilﬁ:

i () auroE fre we (e ) o wify g ofea sem e 2

O (R) : % TH.3. 5. srauag 2
SURITh YA ok AR B, A= e e foeredi o @ ww suEes ST o = <hife

1) (A) 3R (R) 3T =& 2 o (R). (A) it &t == B

2 (A R R) A €, A R). (A) F wd swEen @ 2
3 (AT, A (R) w6 @ 7

@) QTR IR R R

[Question ID = 3599][Question Description = Q38_GP_20N0V_S2_ SHAAN_Shift2]
1. 1

[Option ID = 13859]
2. 2

[Option ID = 13860]
3.3

[Option ID = 13861]
4. 4

[Option ID = 13862]

34) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R,

Assertion (A) : Mankind’s interaction with Earth has led to a highly complex and diverse ecosystem to an increasingly
degraded environment,

Reason (R} : Many of the changes taking place in Earth’s environment are irreversible.

In the light of the above statements, Choose the most appropriate answer from the options given below :
(1) Both (A) and (R} are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

Hrt g1 = fog 18 2 ;o STliepeE (Assertion A) F &9 # forftad ® @ g0 3@ F0 (Reason R) %

E‘?ﬁ

HAMTFAT (A) : WA ST TR % ST SoaiE 3T fafeemgel wfestas-aa =i 3Tt ot s=m

TS A § UiEed 1 5 2

FR (R): YTl % ATERY § 21 T 9% iaad SiaaHd 2

ITF Al % s 1, i ST e Trreat d @ 9 sat v === il

(1)  (A) 3k R) 3F1 7 £ 3R (R). (A) #1 @& =men &
(2)  (A) AR (R) gF1 T 3, sfa (R). (A) F a8 =aren 98 2
(3 (A)H= R, e (R) 98 smea 2

@) (A 3T TE 2, 9 (R) T 3
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[Question ID = 3600][Question Description = Q39_GP_20N0V_S2_ SHAAN_Shift2]
1. 1

[Option ID = 13863]
2. 2

[Option ID = 13864]
3.3

[Option ID = 13865]
4, 4

[Option ID = 13866]

35) What percentage of India’s land is vulnerable to earthquakes?
(1) ~ 57% (2) ~ 42%
(3) - 37% (4) - 28%

i et afara yft o aeeg i sy §

(1) ~ 57% (2) ~42%

(3) ~ 37% 4 ~28%

[Question ID = 3601][Question Description = Q40_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13867)
2. 2 [Option ID = 13868]
3. 3 [Option ID = 13869]
4. 4 [Option ID = 13870]

36) Which of the following is most effectively promoted by Globalisation among the societies?
(1) Monocultural values (2) Multicultural values
(3) Regionalisation (4) Self centredness

frafafaa 9 = o1 909 290 w9 3 TEYE Y ¥ Srdim 3 watdg e S w8t

(1) UHa AFHaS qea (2) ®E WEHidH G
(3) e @) =Rl

[Question ID = 3602][Question Description = Q41_GP_20N0V_S2_ SHAAN_Shift2]
1. 1 [Option ID = 13871]
2. 2 [Option ID = 13872]
3. 3 [Option ID = 13873]
4, 4 [Option ID = 13874]

37) CBCS stands for
(1) Choice Based Central Schemes (2) Choice Based Credit System
(3) Central Board of Credit Schemes (4) Credit Board of Central Sponsors

& dom, = Aaew ® -

(1) =IEd a8 dza whin (2) =aTEd TS Hiee T
(8) T FS ATE Hiee ThHH (4) *fEe TS ATF Fow WiHH

[Question ID = 3603][Question Description = Q42_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13875]

2. 2 [Option ID = 13876)

3. 3 [Option ID = 13877]

4. 4 [Option ID = 13878]

38) COVID-19 acronym stands for

(1) Corona Virus Disease 2019

(2) Corona Virus Disease strain 19

(3) Corona Yirus Disaster 2019

(4) Corona Virus Disease 2020

FHFE—19 F Taa9 £ -

(1) =T arsw S s 2019
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(2) 0 =red S w294 19
(3)  =PRIAT =rstd fsomet #1i® 2019

(4) AT g fsdis @1 2020

[Question ID = 3604][Question Description = Q43_GP_20NOV_S2_SHAAN_Shift2]
1. 1

[Option ID = 13879]
3.2

[Option ID = 13880]
X

[Option ID = 13881]
4, 4

[Option ID = 13882]

39) NITI Aayog is
(1) National Institution for Transforming India (2) National Institute of Technology Integration
(3) National Institute of Technological Innovation (4) National Institute of Transformation and Innovation

Hifd (NITD) a1am =1 dqas 2 -

() R SEE PR g S
(2) AU SREITHE A% AN 32TE
(3)  TIA TS 3F SHISIR ST
4) e ST AT g & TR

[Question ID = 3605][Question Description = Q44_GP_20NOV_S2_SHAAN_Shift2]
1. 1 [Option ID = 13883]
2. 2 [Option ID = 13884]
3. 3 [Option ID = 13885]
4. 4 [Option ID = 13886]

40) Match List | with List Il ;

List | Listll

(Days Celebrated) (When)

(A) Earth Day (1) 24 January

(B) UNO Day (ll) 5th June

(C) Environment Day (lll} 24th October

(D) International Day of Education (IV) 22nd April

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(N), (C)-(), (D)-(IV)  (2) (A)~(IV), (B)-(Il1}, (C)-(1), (D)-(I)
(3) (A)-(I), (B)-(I¥), (C)-(1), (D)-(1I)  (4) (A)-(IV), (B)-(1l1}, (C}-(I1}, (D)-(D)

-1 % "y g-11 =1 T fife
ESia g1
EC foofi
(A) vEt-feam @ 24 5=l
(B) uxw Uy ¥y fdaw ah s
(C) wIRRI-femd (ATD) 24 21HR
(D) Irigr fren fam (IV) 22 1«
Hra fou 7o fTweat O ° w2 Sow T 9me S+

1 A-O. B)-), (C)-A1). (D)-(IV)
@ @-0V), B)-(1), (C)-{), (D)-(1L)
() (AN (RTVY. (O)(M (M-TH
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(4

(A)-(IV). (B)-(1D). (C)-dD), (D)-(D

[Question ID = 3606][Question Description = Q45_GP_20N0V_S52_ SHAAN_Shift2]
1. 1 [Option ID = 13887]
2. 2 [Option ID = 13888]
3. 3 [Option ID = 13889]
4, 4 [Option ID = 13890]
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